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[k.M v

(cgqfodYih@oLrqijd iz'u)

1.	 fuEufyf[kr x|ka'k dks è;kuiwoZd i<+dj blds vkèkkj ij 

fn, x, iz'uksa ds lokZfèkd mi;qDr mÙkj okys fodYi 

pqudj fyf[k,%	 	 		  5×1 = 5

	 vkt ds nkSj esa ftls ns[kks] ogh nq[kh] ijs'kku] grk'k vkSj mnkl 

utj vkrk gSA reke rjg dh fparkvksa us yksxksa dks ?ksj j[kk gSA 

dksbZ viuh lsgr dks ysdj ijs'kku jgrk gS] rks dksbZ dke&èkaèks 

dh eanh ;k osru esa dVkSrh ls nq[kh gSA fdlh dks Hkfo"; dh 

fpark lrk jgh gS rks dksbZ vius eku&lEeku ds ckjs esa lksp 

dj ek;wl eglwl dj jgk gSA tkfgj gS] ,sls esa gj dksbZ [kq'kh 

ds ihNs Hkkx jgk gSA dbZ yksx lksprs gSa fd vehj m|ksxifr 

;k eksVk osru ikus okys is'ksoj yksx [kq'k jgrs gSa vkSj x+jhch 

;k vkfFkZd foiUurk gh [kq'kh ls oafpr jgus dh ,dek=k otg 

gSA ysfdu vxj èku ls [kq'kh vkrh rks nqfu;k esa dbZ èkuh yksx 

dqaBk vkSj grk'kk esa thou ugha thrsA [kq'kh iSlk ugha] larqf"V dk 

Hkko gSA ;g iSls ls ugha] gekjs iz;klksa ls vkrh gS vkSj lcls 

cM+h ckr gS fd [kq'kh ds ihNs Hkkxus ls [kq'kh ugha feyrhA [kq'kh 

gekjs fcYdqy vklikl gksrh gS] ftls gesa igpkuuk vkSj xzg.k 

djuk gksrk gSA

	 T;knkrj yksx [kq'kh ges'kk ckgj [kkstrs gSa] tcfd ;g mlh 

ifjokj esa miyCèk gksrh gS] ftldk ge vge fgLlk gksrs gSaA 

eqf'dy ;g gS fd vktdy ifjokj dh ifjHkk"kk fldqM+ xbZ 

gSA ge fliQZ ifr&iRuh vkSj vius cPpksa dks gh ifjokj ekuus 

yxs gSa tcfd HkkbZ&cgu] nsoj&nsojkuh] tsB&tsBkuh] lkl&llqj] 

pkpk&ekek vkfn lHkh bl ifjokj ds lnL; gksrs gSaA tc ge 

vius ifjokj ds lnL;ksa dh [kq'kh esa lPps eu ls lfEefyr 

gksus yxrs gSa vkSj mudh [kq'kh ds fy, lfØ; jgrs gSa] rks [kq'kh 

Lo;a gekjs ikl vkrh gSA tc ge bl ekufldrk ls O;ogkj 

djrs gSa] rks ifjokj ds nwljs lnL; Hkh gekjs fy, ,slk gh djrs 

gSaA fiQj [kq'kh u feyus dk dksbZ dkj.k ugha gks ldrkA blfy, 

ge Hkys gh ,d pkjnhokjh esa u jg dj vyx jgrs gksa] vyx 

[kkuk cukrs gSa] ysfdu eu ls ge vius laiw.kZ ifjokj ls tqM+s 

jg ldrs gSaA

	 (i)	 vktdy yksxksa dh fpark ds dkj.k gSa%� (1)
		  (a)	 vLoLFk gksuk] osru dVkSrh] O;kolkf;d eanh
		  (b)	 vkfFkZd eanh] vLoLFk gksuk] grk'kk
		  (c)	 mnklh] osru dVkSrh] O;kolkf;d eanh
		  (d)	 fujk'kk] vkfFkZd eanh] vLoLFk gksuk

	 (ii)	 [kq'k jgus ds fy, vko';d gS%� (1)
 		  (a)	 vkfFkZd laiUurk	 (b)	 izfrf"Br gksuk
		  (c)	 m|ksxifr gksuk		 (b)	 larks"kh gksuk

	 (iii)	 izR;sd O;fDr [kq'kh ds ihNs D;ksa Hkkx jgk gS\� (1)
 		  (a)	 vkfFkZd foiUurk ds dkj.k
		  (b)	 fofHkUu fparkvksa ls f?kjs gksus ds dkj.k
		  (c)	 ^[kq'kh* ls LoLFk jg ik,¡xs] ,slh lksp ds dkj.k
		  (d)	 ^[kq'kh* ls iSlk vk,xk] ,slh lksp ds dkj.k

	 (iv)	� fuEufyf[kr dFku rFkk dkj.k dks è;kuiwoZd if<+,A mlds 

ckn fn, x, fodYiksa esa ls lgh fodYi pqudj fyf[k,%

(1)

fu/kZfjr le; % 3 ?k.Vs � vf/dre vad % 80

funsZ'k%
	 fuEufyf[kr funsZ'kksa dks cgqr lkoèkkuh ls if<+, vkSj mudk l[+rh ls vuqiky dhft,%
(i)	 bl iz'u&i=k esa dqy 18 iz'u gSaA lHkh iz'uksa ds mÙkj nsuk vfuok;Z gSA
(ii)	 bl iz'u&i=k esa nks [k.M gSa& [k.M v vkSj [k.M cA
(iii)	 [k.M v esa miiz'uksa lfgr 45 oLrqijd iz'u iwNs x, gSaA fn, x, funsZ'kksa dk ikyu djrs gq, dqy 40 iz'uksa ds mÙkj fyf[k,A
(iv)	 [k.M c esa o.kZukRed iz'u iwNs x, gSa] vkarfjd fodYi Hkh fn, x, gSaA
(v)	 iz'uksa ds mÙkj fn, x, funsZ'kksa dk ikyu djrs gq, fyf[k,A
(vi)	 ;FkklaHko nksuksa [k.Mksa ds iz'uksa ds mÙkj Øe'k% fyf[k,A
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	 dFku% gesa vius ifjokj dh [kqf'k;ksa esa lPps eu ls vkSj 

lfØ;rk ls mifLFkr jguk pkfg,A

	 dkj.k% ;gh izlUu jgus dk ,dek=k lkèku gSA

	 fodYi%

 	 (a)	 dFku rFkk dkj.k nksuksa x+yr gSaA

	 (b)	 dFku x+yr gS] ysfdu dkj.k lgh gSA

	 (c)	 dFku vkSj dkj.k nksuksa lgh gSa rFkk dkj.k] dFku dh lgh 

O;k[;k djrk gSA

	 (d)	 dFku lgh gS] ysfdu dkj.k mldh x+yr O;k[;k djrk 

gSA

	 (v)	� fuEufyf[kr esa ls dkSu&lk@ls okD; x|ka'k ls esy [kkrs 

gSa\� (1)
 		   I.	 laiw.kZ ifjokj ls tqM+dj [kq'kh ikbZ tk ldrh gSA
		   II.	 nknk&nknh] pkpk&pkph] cqvk vkfn dks feykdj 

ifjokj ekuuk pkfg,A
		   III.	nqfu;k esa lHkh èkuh dqaBkxzLr vkSj grk'k ugha gSaA
		   IV.	rFkkdfFkr [kq'kh dks èku ls ugha [kjhnk tk ldrkA

	 fodYi%
		  (a)	 dsoy I	 	 (b)	 II vkSj III
		  (c)	 dsoy I	 	 (d)	 I, II, IV

2.	 fuEufyf[kr x|ka'k dks è;kuiwoZd i<+dj bl ij vkèkkfjr 

iz'uksa ds lokZfèkd mi;qDr mÙkj okys fodYi pqudj 

fyf[k,%� 5×1 = 5
	 vBkjg lky ds ;qok xzSaMekLVj vkj- izKkuuank bu fnuksa Nk, gq, 

gSaA ik¡p ckj fo'o pSafi;u jgs eSXul dkyZlu ds lkFk 'krjat 

oYMZ di dk vafre eqdkcyk Hkys gh og ugha thr ik,A ij] 

de mez esa gh liQyrk vkSj mEehnksa dk Hkkjh rkt og igu 

pqds gSaA mudh lknxh] 'kkyhurk ilan dh tk jgh gSA vPNh 

ckr gS fd os gkj&thr nksuksa esa lgt fn[krs gSaA chrs lky ,d 

vkWuykbu 'krjat VwukZesaV esa dkyZlu dks gjkus ds ckn izKku us  

deky ckr dghA mUgksaus dgk] ^;g dsoy ,d thr gS] dksbZ 

vafre ughaA vkxs dbZ pqukSfr;k¡ gSaA cgqr dqN djuk gSA ;gh gkj 

ds lkFk gksrk gSA fdlh ,d gkj ls lc [kRe ugha gks tkrkA*

	 vc loky ;g gS D;k viuh liQyrk dh [kq'kh eukuk x+yr 

gS\ ekbØkslkWÝV ds laLFkkid fcy xsV~l dgrs gSa] ^liQyrk 

dh [kq'kh eukus esa gtZ ugha gSA ij T;knk t:jh gS fd ge 

vliQyrkvksa ds lcd ij Hkh è;ku nsrs jgsaA*

	 liQyrk ds lkFk cgqr dqN cnyrk gSA dHkh ge cny tkrs 

gSa rks dHkh nwljsA fdruh gh ckj rks gesa vius ls vkxs fn[kuk 

gh can gks tkrk gSA bl dkj.k dHkh ge vfrvkRefo'okl ds 

f'kdkj gksdj t:jh esgur ugha djrs] rks dHkh nwljh ls gekjs 

fj'rs [kjkc gks tkrs gSaA ,sls esa lcls igys vius ?keaM vkSj 

vkØked gksus dh bPNk dks dkcw djuk t:jh gks tkrk gSA

	 fdruh gh izfrHkk,¡ ,d&nks cM+h thr dh ped&èked esa gh 

vVd dj jg tkrh gSaA ;k le> ugha vkrk fd vkxs D;k\ 

,sls esa lgtrk gh gekjh miyfCèk;ksa ds dn dks c<+krh gSA ge 

fouez jgsa] liQyrk dh pkg gks vkSj esgur djus esa vkxs jgsaA 

è;ku izfØ;k ij gksA ge urhtk Hkys gh gkj tk,¡] ij gekjk 

mRlkg cuk jgsA

	 (i)	 izKkuuank dh izflf¼ dk dkj.k gS%� (1)
 		  (a)	 de mez esa 'krjat ds {ks=k esa uke dekuk
		  (b)	 mudh lknxh] ljyrk vkSj 'kkyhurk
		  (c)	 gkj&thr dks leku Hkko ls Lohdkjuk
		  (d)	 thou dks pqukSrh ds :i esa Lohdkjuk

	 (ii)	�  fdlh ,d gkj ls lc [kRe ugha gks tkrk*& iafDr dk 

vk'k; gS%� (1)
 		  (a)	 thr&gkj thou ds fnu vkSj jkr gSaA
		  (b)	 vliQy gksus ls thou lekIr ugha gksrkA
		  (c)	 gkj ds ckn thr vo'; vkrh gSA
		  (d)	 y{; izkfIr ds fy, la?k"kZ djuk pkfg,A

	 (iii)	� fcy xsV~l ds vuqlkj liQyrk dh [kq'kh eukus ls vfèkd 

vko';d gS%� (1)
 		  (a)	 vliQyrkvksa dh pqukSfr;ksa dks Lohdkjuk
		  (b)	 vliQyrkvksa ds dkj.kksa ij è;ku nsuk
		  (c)	 u, y{; ds fy, la?k"kZ djuk
		  (d)	 vliQyrkvksa ls f'k{kk xzg.k djuk

	 (iv)	� liQyrk izkfIr ds ckn fdls vius fu;a=k.k esa j[kuk 

vko';d gS\� (1)
 		  (a)	 nwljksa ds izfr vius O;ogkj dks
		  (b)	 vgadkj vkSj vkØks'k dh bPNk dks
		  (c)	 vkRefo'okl vkSj thr dh [kq'kh dks
		  (d)	 vius izfr nwljksa ds O;ogkj dks

	 (v)	� fuEufyf[kr dFku rFkk dkj.k dks è;kuiwoZd if<+,A mlds 

ckn fn, x, fodYiksa esa ls dksbZ ,d lgh fodYi pqudj 

fyf[k,A� (1)

	 dFku% liQyrk ds en esa gesa vius ls vkxs fn[kuk gh can gks 

tkrk gSA

	 dkj.k% ge vfr vkRefo'okl ds f'kdkj gksdj t:jh esgur 

ugha djrsA
 		  (a)	 dFku rFkk dkj.k nksuksa xyr gSaA
		  (b)	 dFku xyr gS] ysfdu dkj.k lgh gSA
		  (c)	 dFku lgh gS] ysfdu dkj.k mldh xyr O;k[;k 

djrk gSA
		  (d)	 dFku rFkk dkj.k nksuksa lgh gSa rFkk dkj.k] dFku dh 

lgh O;k[;k djrk gSA
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	 (iii)	� ¶eSa rqels ifjp; iwN jgh gw¡ vkSj rqe cl ,d gh jkx 

vyki jgs gksA¸ & jpuk ds vkèkkj ij okD;&Hksn gS%�(1)
 		  (a)	 ljy okD;		  (b)	 feJ okD;
		  (c)	 la;qDr okD;	 	 (d)	 lkekU; okD;

	 (iv)	 fuEufyf[kr esa ls feJ okD; Nk¡Vdj fyf[k,%� (1)
 		  (a)	 �;g lacaèk ijaijk ds fo#¼ Fkk vr,o mlus Hkwy 

tkuk gh Js;Ldj le>kA
		  (b)	 rrk¡jk ckj&ckj mldh vk¡[kksa ds lkeus FkkA
		  (c)	 nksuksa dks le>kus ds dbZ iz;kl gq, fdarq nksuksa vfMx 

jgsA
		  (d)	 vkl dh ,d fdj.k Fkh tks leqnz dh nsg ij Mwcrh 

fdj.kksa dh rjg dHkh Hkh Mwc ldrh FkhA

	 (v)	� LraHk&I dks LraHk&II ls lqesfyr dhft, vkSj lgh fodYi 

dk p;u djds fyf[k,%� (1)

	 	 LraHk&I 			   LraHk&II

	 1.	 og chp&chp esa n`f"V		  (I)	 feJ okD;

	 	 bèkj&mèkj nkSM+krhA

	 2.	 mUgksaus ,slh fiQYe cukbZ 		 (II)	 la;qDr okD;

	 	 Fkh ftls lPpk dfo&ân; 

	 	 gh cuk ldrk FkkA

	 3-	 ^rhljh dle* fi+QYe ugha 	 (III)	ljy okD;

	 	 Fkh cfYd lSY;wykbM ij 

	 	 fy[kh dfork FkhA

	 fodYi%
	 	 (a)	 1-(III), 2-(I), 3-(II)	 (b)	 1-(I), 2-(II), 3-(III)
		  (c)	 I-(III), 2-(II), 3-(I)	 (d)	 I-(II), 2-(III), 3-(I)

5.	 funsZ'kkuqlkj ^lekl* ij vkèkkfjr ik¡p iz'uksa esa ls fdUgha 

pkj iz'uksa ds mÙkj fyf[k,%	 	 	 	 4×1=4

	 (i)	 ^Lo.kZind* leLr&in dkSu&ls lekl dk mnkgj.k gS\

(1)
		  (a)	 f}xq lekl	 	 (b)	 rRiq#"k lekl
		  (c)	 cgqozhfg lekl		 (d)	 vO;;hHkko lekl

	 (ii)	 ^vkthou* leLr&in dk lekl&Hksn gksxk%� (1)
 		  (a)	 rRiq#"k lekl	 	 (b)	 deZèkkj; lekl
		  (c)	 cgqozhfg lekl		 (d)	 vO;;hHkko lekl

	 (iii)	 ^Hkykekul* leLr&in dk foxzg gksxk%� (1)
 		  (a)	 HkykbZ dk ekul	 (b)	 Hkyk vkSj ekul
		  (c)	 Hkyk gS tks ekul	 (d)	 HkykbZ ds fy, ekul

	 (iv)	� fuEufyf[kr ;qXeksa ij fopkj dhft, vkSj lgh tksM+s dks 
pqfu,%� (1)

 		  (a)	 ?kksjriL;k&cgqozhfg lekl
		  (b)	 flusek?kj&deZèkkj; lekl
		  (c)	 iatkc&f}xq lekl
		  (d)	 ØksèkkfXu&vO;;hHkko lekl

3.	 funsZ'kkuqlkj ^incaèk* ij vkèkkfjr fuEufyf[kr ik¡p iz'uksa esa ls 

fdUgha pkj iz'uksa ds mÙkj nhft,%	 		  4×1 = 4

	 (i)	� ¶ftldh Nr ij nÝ+rh dh nhokjksaokyh vkSj rkrkeh 

dh t+ehuokyh ,d lqanj i.kZdqVh FkhA¸& bl okD; esa 

js[kkafdr dk incaèk Hksn gS%� (1)
 		  (a)	 laKk incaèk	 	 (b)	 loZuke incaèk
		  (c)	 fØ;k incaèk	 	 (d)	 fo'ks"k.k incaèk

	 (ii)	� os I;kys gekjs lkeus j[k fn, x,A*& esa js[kkafdr dk 

incaèk Hksn gS%� (1)
 		  (a)	 laKk incaèk	 	 (b)	 fØ;k&fo'ks"k.k incaèk
		  (c)	 fo'ks"k.k incaèk		 (d)	 fØ;k incaèk

	 (iii)	� ¶mldh dYiuk esa og ,d vn~Hkqr lkglh] lqanj vkSj 

cfy"B ;qod FkkA¸& okD; esa js[kkafdr dk incaèk Hksn gS%
 		  (a)	 laKk incaèk� (1)
		  (b)	 loZuke incaèk
		  (c)	 fo'ks"k.k incaèk
		  (d)	 fØ;k&fo'ks"k.k incaèk

	 (iv)	 fuEufyf[kr esa fØ;k&fo'ks"k.k incaèk dk mnkgj.k Nk¡fV,%
 		  (a)	 og rst+ dneksa ls pyrh gqbZ ogk¡ igq¡phA� (1)
		  (b)	 og rst+ dneksa ls pyrh gqbZ ogk¡ igq¡phA
		  (c)	 og rst+ dneksa ls pyrh gqbZ ogk¡ igq¡phA
		  (d)	 og rst+ dneksa ls pyrh gqbZ ogk¡ igq¡phA

	 (v)	� ¶okehjks Hkhrj&gh&Hkhrj dqN cspSuh eglwl djus yxh 

FkhA¸ & esa js[kkafdr dk incaèk gS%� (1)
 		  (a)	 fØ;k&fo'ks"k.k incaèk	 (b)	 laKk incaèk
		  (c)	 fo'ks"k.k incaèk		 (d)	 fØ;k incaèk

4.	 funsZ'kkuqlkj ^jpuk ds vkèkkj ij okD;&Hksn* ij vkèkkfjr ik¡p 

iz'uksa esa ls fdUgha pkj iz'uksa ds mÙkj nhft,% 

	 https://www.cbseboardonline.com			  4×1 = 4

	 (i)	 fuEufyf[kr esa ls mi;qDr ljy okD; Nk¡Vdj fyf[k,%

� (1)
		  (a)	 �fudksckfj;ksa dk fo'okl gS fd izkphu dky esa ;s nksuksa 	

}hi ,d ,d gh FksA 
		  (b)	 izse lcdks tksM+rk gS vkSj ?k`.kk nwjh c<+krh gSA
		  (c)	 ;qxy ds cfynku dh dFkk ;gk¡ c;ku dh xbZ gSA
		  (d)	 �lekt mls u dsoy ;kn j[krk gS cfYd mlds 

cfynku dks O;FkZ ugha tkus nsrkA

	 (ii)	� ¶tks lH;rk ftruh iqjkuh gS] mlds ckjs esa mrus gh T+;knk 

fdLls&dgkfu;k¡ Hkh lquus dks feyrs gSaA¸& jpuk ds 

vkèkkj ij ;g okD;&Hksn gS%� (1)
 		  (a)	 ljy okD;	 (b)	 feJ okD;
		  (c)	 lkekU; okD;	 (d)	 la;qDr okD;
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	 (v)	 fuEufyf[kr esa ^f=kykspu* leLr&in dk lgh ;qXe gS%
� (1)

 		  (a)	 rhu ykspu dk lewg&deZèkkj; lekl
		  (b)	 rhu gSa tks ykspu&rRiq#"k lekl
		  (c)	 rhu gSa ykspu ftlds&f}xq lekl
		  (d)	 rhu gSa ykspu ftlds&cgqozhfg lekl

6.	 funsZ'kkuqlkj ^eqgkojs* ij vkèkkfjr Ng iz'uksa esa ls fdUgha 
pkj iz'uksa ds mÙkj fyf[k,%	 	 	 	 4×1 = 4

	 (i)	� eqgkojs vkSj vFkZ ds mfpr esy okys fodYi dk p;u 
dhft,%� (1)

 		  (a)	 ureLrd gksuk & flj mBkuk
		  (b)	 nkSM+&èkwi djuk & èkwi esa nkSM+uk
		  (c)	 ut+j j[kuk & è;ku j[kuk
		  (d)	 iUus jaxuk & dkxt+ksa ij jax fc[ksjuk

	 (ii)	� ;q¼ ds fy, rS;kj gksuk* vFkZ ds fy, mi;qDr 
eqgkojk gS%� (1)

 		  (a)	 Mhax ekjuk	 	 (b)	 fry dk rkM+ cukuk
		  (c)	 rw&rw eSa&eSa gksuk	 (d)	 ryokj [khapuk

	 (iii)	� vlaHko dk;Z dj fn[kkuk* vFkZ ds fy, mi;qDr eqgkojk 
gksxk%� (1)

	  	 (a)	 rkjs rksM+ ykuk	 	 (b)	 rwrh cksyuk
		  (c)	 R;ksfj;k¡ p<+kuk		 (d)	 fry dk rkM+ cukuk

	 (iv)	 ^gekjh lsuk us nq'eu dks cqjh rjg gjk fn;kA* okD; esa 
js[kkafdr va'k ds fy, mi;qDr eqgkojk gksxk%� (1)

 		  (a)	 ued&fepZ yxkuk	 (b)	 NDds NqM+kuk
		  (c)	 [kwu [kkSyuk	 	 (d)	 [kwu tykuk

	 (v)	� ¶esjh cgu lk¡i&lh<+h ds [ksy esa gkj jgh Fkh] vr% mlus 
xksfV;k¡ feykdj iwjk [ksy gh ----------------fn;kA¸ okD; esa 
fjDr LFkku ds fy, mi;qDr eqgkojk gksxk%� (1)

 		  (a)	 ?kko gjk gksuk	 	 (b)	 xkxj esa lkxj Hkjuk
		  (c)	 vk¡[kksa esa èkwy >ksaduk	 (d)	 xqM+ xkscj dj nsuk

	 (vi)	 ^izfr"Bk c<+kuk* vFkZ ds fy, eqgkojk gksxk%� (1)
		  (a)	 'ksj ds nk¡r fxuuk	 (b)	 flj ij diQu ck¡èkuk
		  (c)	 pkj pk¡n yxkuk	 (d)	 gokbZ fdys cukuk

7.	 fuEufyf[kr i|ka'k dks i<+dj iwNs x, iz'uksa ds fy, lgh 

fodYi pqudj fyf[k,%� 5×1=5

	 fopkj yks fd eR;Z gks u e`R;q ls Mjks dHkh]

	 ejks] ijarq ;kas ejks fd ;kn tks djsa lHkhA

	 gqbZ u ;ksa lqe`R;q rks o`Fkk ejs] o`Fkk ft,]

	 ejk ugha ogh fd tks ft;k u vkids fy,A

	 ogh i'kq&izo`fÙk gS fd vki vki gh pjs]

	 ogh euq"; gS fd tks euq"; ds fy, ejsAA

	 (i)	 dfo us ,slk D;ksa dgk fd e`R;q ls ugha Mjuk pkfg,\

(1)

 		  (a)	 e`R;q ls ;'k izkIr gksrk gS
		  (b)	 tUe&ej.k bZ'oj ds gkFk esa gS
		  (c)	 e`R;q ds ckn u;k 'kjhj feyrk gS
		  (d)	 e`R;q rks vo';aHkkoh gS

	 (ii)	 dfo dSlh e`R;q dks lqe`R;q dgrk gS\� (1)
 		  (a)	 fcuk fdlh ihM+k ds gqbZ e`R;q
		  (b)	 viuksa ds fgr izkIr gksus okyh e`R;q
		  (c)	 egku mís'; ds fy, ejus okys dh e`R;q
		  (d)	 LokFkZ fl¼ djrs le; gqbZ e`R;q

	 (iii)	 dSlh e`R;q O;FkZ gS\� (1)
 		  (a)	 ns'k fgr izkIr gksus okyh e`R;q
		  (b)	 ftl e`R;q dks ;kn u fd;k tk,
		  (c)	 nwljksa ds fy, la?k"kZ djrs gq, izkIr e`R;q
		  (d)	 e`R;q ds ckn tks ges'kk ;kn jgs

	 (iv)	 i'kq izo`fÙk D;k gS\� (1)
 		  (a)	 vius fy, thuk&[kkuk
		  (b)	 nwljksa ds fy, thuk&[kkuk
		  (c)	 ijksidkj dk Hkko j[kuk
		  (d)	 nwljksa dh Hkkoukvksa dks Bsl igq¡pkuk

	 (v)	 dkSu&lk@ls okD; i|ka'k ls esy [kkrk gS@[kkrs gSa\� (1)
	 I. 	 mnkj euq"; nwljksa ds fy, thrk&ejrk gSA

	 II. 	 i'kq izo`fÙk dks le> ds lkFk viukuk pkfg,A

	 III. 	 euq"; thou dh lkFkZdrk ijksidkj esa gSA

	 IV. 	 thou esa dqN ikus ds fy, LokFkhZ gksuk iM+rk gSA

	 fodYi%
	  	 (a)	 dsoy I		  (b)	 II, IV
		  (c)	 I, III		  (d)	 II, III

8.	 i| [kaM ij vkèkkfjr fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, 

mi;qDr fodYi dks pqudj fyf[k,%		 	  2×1=2

	 (i)	 dchj ds vuqlkj ehBh cksyh dk D;k izHkko gksrk gS\�(1)

	 I. 	 gekjk 'kjhj 'khry gksrk gSA

	 II. 	 cksyh esa vga dk Hkko vkrk gSA

	 III. 	 gekjk dke ljyrkiwoZd gks tkrk gSA

	 IV. 	 lquus okys dks lq[kkuqHkwfr gksrh gSA

	 fodYi%
 		  (a)	 I, II		  (b)	 II, III
		  (c)	 III, IV		  (d)	 I, IV

	 (ii)	 ¶ftlds pj.kksa esa iyk rky

	 niZ.k&lk iQSyk gS fo'kky¸ & bu iafDr;ksa esa dfo us rky dks 

fdl :i esa fpf=kr fd;k gS\� (1)

 	 (a)	 ioZr dh ijNkbZ ds :i esa

	 (b)	 fo'kky ty&lzksr ds :i esa

	 (c)	 fo'kky niZ.k ds :i esa

	 (d)	 N=kNk;k esa iyus okys ds :i esa
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9.	 fuEufyf[kr i|ka'k dks i<+dj iwNs x, iz'uksa ds mÙkj ds fy, 

lgh fodYi dks pqudj fyf[k,%� 5×1=5

	 lkykuk bfErgku gqvkA HkkbZ lkgc iQsy gks x,] eSa ikl gks x;k 

vkSj njts esa izFke vk;kA esjs vkSj muds chp esa dsoy nks lky 

dk varj jg x;kA th esa vk;k] HkkbZ lkgc dks vkM+s gkFkksa yw¡& 

^vkidh og ?kksj riL;k dgk¡ xbZ*\ eq>s nsf[k,] et+s ls [ksyrk 

Hkh jgk vkSj njts esa vOoy Hkh gw¡A* ysfdu og brus nq[kh vkSj 

mnkl Fks fd eq>s muls fnyh gennhZ gqbZ vkSj muds ?kko ij 

ued fNM+dus dk fopkj gh yTtkLin tku iM+kA gk¡] vc eq>s 

vius Åij dqN vfHkeku gqvk vkSj vkRelEeku Hkh c<+kA HkkbZ 

lkgc dk og jkSc eq> ij u jgkA vktknh esa [ksydwn esa 'kjhd 

gksus yxkA fny etcwr FkkA vxj mUgksaus fiQj esjh iQthgr dh] 

rks lkiQ dg nw¡xk& ̂ vkius viuk [kwu tykdj dkSu&lk rhj ekj 

fy;kA eSa rks [ksyrs&dwnrs njts esa vOoy vk x;kA* t+cku ls 

;g gsdM+h trkus dk lkgl u gksus ij Hkh esjs jax&<ax ls lkiQ 

tkfgj gksrk Fkk fd HkkbZ lkgc dk og vkrad eq> ij ugha FkkA 

HkkbZ lkgc us bls Hkk¡i fy;k& mudh lgt cqf¼ cM+h rhoz Fkh 

vkSj ,d fnu tc eSa Hkksj dk lkjk le; xqYyh&MaMs dh HksaV 

djds Bhd Hkkstu ds le; ykSVk] rks HkkbZ lkgc us ekuks ryokj 

[khap yhA

	 (i)	� d{kk esa izFke vkus ij NksVs HkkbZ ds O;ogkj esa cM+s HkkbZ 

lkgc ds izfr >ydus yxk%� (1)
 		  (a)	 izlUurk	 	 (b)	 vgadkj
		  (c)	 LokfHkeku	 	 (d)	 xoZ

	 (ii)	� NksVk HkkbZ cM+s HkkbZ lkgc dks vkM+s gkFkksa ysuk pkgrk Fkk 

ijarq ,slk dj ugha ik;k] D;ka\� (1)
 		  (a)	 mudh Mk¡V&MiV dk Mj Fkk
		  (b)	 mldh fgEer ugha iM+h
		  (c)	 yksd&ykt dk Mj Fkk
		  (d)	 muls gennhZ gks vkbZ

	 (iii)	� NksVs HkkbZ ds vOoy vkus ij HkkbZ lkgc ds O;ogkj esa 

D;k varj vk;k\� (1)
 		  (a)	 os vkSj vfèkd è;kuiwoZd i<+us yxs
		  (b)	 muds jkSc esa FkksM+h ujeh vk xbZ
		  (c)	 os Hkh [ksy&dwn esa Hkkx ysus yxs
		  (d)	 viuh ihM+k Hkwydj csgn izlUu gks x,

	 (iv)	� fuEufyf[kr dFku rFkk dkj.k dks è;kuiwoZd if<+,A mlds 

ckn fn, x, fodYiksa esa ls dksbZ ,d lgh fodYi pqudj 

fyf[k,A� (1)

	 dFku% HkkbZ lkgc xqLlk gks x, vkSj mUgksaus ryokj [khap yhA

	 dkj.k% NksVk HkkbZ lqcg ls 'kke rd xqYyh&MaMk [ksydj ykSVk 

FkkA

	 fodYi%
 		  (a)	 dFku vkSj dkj.k nksuksa xyr gSaA
		  (b)	 dFku lgh gS] ysfdu dkj.k mldh xyr O;k[;k djrk 

gSA
		  (c)	 dFku x+yr gS] ysfdu dkj.k lgh gSA
		  (d)	 dFku vkSj dkj.k nksuksa lgh gSa rFkk dkj.k] dFku dh 

lgh O;k[;k djrk gSA

	 (v)	 dkSu&lk@ls okD; x|ka'k ls esy [kkrs gSa\� (1)
		  I. 	 �okf"kZd ijh{kk esa gj ckj dh rjg NksVk HkkbZ Hkh vPNs 

vadksa ls ikl gks x;kA
		  II. 	 HkkbZ lkgc nq[kh vkSj mnkl gks x, FksA
		  III. 	 �NksVs HkkbZ us vius gko&Hkko ls n'kkZ fn;k fd mu 

nksuksa esa dksbZ cjkcjh ugha gSA
		  IV. 	 �vc cM+s HkkbZ lkgc us NksVs HkkbZ dks dqN Hkh dguk 

iwjh rjg ls NksM+ fn;k FkkA

	 fodYi%
 		  (a)	 I, II	 	 (b)	 dsoy III
		  (c)	 II, III	 	 (d)	 III, IV

10.	 x| [kaM ij vkèkkfjr fuEufyf[kr iz'uksa ds mÙkj ds fy, 

mfpr fodYi pqudj fyf[k,%� 2×1 = 2

	 (i)	 dkSu&lk@ls okD; ^dkjrwl* ,dkadh ls esy [kkrs gSa\�(1)

	 	 I.	 ot+hj vyh dh vkt+knh cgqr [+krjukd gSA

	 	 II.	� odhy us ot+hj vyh dh ckr è;kuiwoZd lquh vkSj  

lgk;rk dk iwjk vk'oklu fn;kA

	 	 III.	� bldk eryc daiuh ds f[kykiQ lkjs fganqLrku esa 

,d ygj nkSM+ xbZ gSA

	 	 IV.	� ysÝ+VhusaV ds vuqlkj ot+hj vyh dks idM+uk cgqr 

ljy gSA

	 fodYi%
 		  (a)	 dsoy II	 	 (b)	 I, III
		  (c)	 I, II, IV	 	 (d)	 III, IV

	 (ii)	� rrk¡jk&okehjksa dFkk* esa rrk¡jk dh dkSu&lh fo'ks"krk,¡ 

mHkjdj vkrh gSa\� (1)
 		  (a)	 feyulkj] laosnu'khy] pkykd
		  (b)	 laosnu'khy] lkglh] funZ;h
		  (c)	 usd] lkglh] ennxkj
		  (d)	 lkglh] ennxkj] fu"Bqj
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[k.M c

(o.kZukRed iz'u)

11.	 x| [kaM ij vkèkkfjr fuEufyf[kr rhu iz'uksa esa ls fdUgha 

nks iz'uksa ds mÙkj yxHkx 60 'kCnksa esa fyf[k,%� 2×3 = 6

	 (d)	�̂Mk;jh* dk ,d iUuk* ikB esa 26 tuojh 1931 dks 

vej&fnu D;ksa dgk x;k gS vkSj mlds fy, D;k rS;kfj;k¡ 

dh xbZ\� (2)

	 ([k)	�fiQYedkj 'kSysanz ds ckjs esa ys[kd us D;k dgk gS\ mu 

dFkuksa ls vkids eu esa 'kSysanz dh dkSu&lh Nfo mHkjrh 

gS\� (2)

	 (x)	�̂vc dgk¡ nwljs ds nq[k ls nq[kh gksus okys* ikB ds ys[kd 

dh ek¡ dh rjg vkidh ek¡ Hkh vkidks dqN fgnk;rsa nsrh 

gksaxh] mUgsa vius 'kCnksa esa fyf[k, vkSj crkb, fd vki 

ij D;k izHkko iM+kA� (2)

12.	 i| [kaM ij vkèkkfjr fuEufyf[kr rhu iz'uksa esa ls fdUgha 

nks iz'uksa ds mÙkj yxHkx 60 'kCnksa esa fyf[k,%� 2×3=6

	 (d)	�JhÑ".k ds n'kZuksa ds fy, ehjk dkSu&dkSu ls dk;Z djus 

dks rRij gS\ buls JhÑ".k ds izfr ehjk ds fdl Hkko dk 

irk pyrk gS\

	 ([k)	�dSi+Qh vkt+eh dk ;g xhr & ^dj pys ge fi+Qnk---* 

fduds ckjs esa fy[kk x;k gS\ bl xhr esa mudh fdu 

fo'ks"krkvksa dk o.kZu fd;k x;k gS\

	 (x)	�̂vkRe=kk.k* dfork dh dkSu&lh nks ckrsa vkidks cgqr 

izsfjr djrh gSa vkSj D;ksa\ vius 'kCnksa esa fyf[k,A

	 https://www.cbseboardonline.com 

13.	 iwjd ikB~;&iqLrd ij vkèkkfjr fuEufyf[kr rhu iz'uksa esa ls 

fdUgha nks iz'uksa ds mÙkj yxHkx 60 'kCnksa esa fyf[k,%

� 2×3 = 6

	 (d)�	¶ys[kd dk gfjgj dkdk ls ?kfu"B tqM+ko gSA¸ & ikB esa 

vk, bl dFku dks rdZ lfgr Li"V dhft,A

	 ([k)�	̂liuksa ds ls fnu* ikB esa ys[kd dks cpiu esa izÑfr 

dSlh izrhr gksrh Fkh\ ml le; ys[kd iQwyksa ds lkFk 

dSlk O;ogkj djrk Fkk\

	 (x)	�̂Vksih 'kqDyk dk nksLr bÝiQu Fkk ysfdu mldh ?kfu"B 

nksLrh bÝiQu dh nknh ls Hkh FkhA* bl dFku dks ^Vksih 

'kqDyk* ikB ds vkèkkj ij Li"V dhft,A

14.	 fuEufyf[kr rhu fo"k;ksa esa ls fdlh ,d fo"k; ij fn, 

x, ladsr&fcanqvksa ds vkèkkj ij yxHkx 100 'kCnksa esa ,d 

vuqPNsn fyf[k,% � 5

	 (d)	lM+dksa dks dpjs ls cpkvks

	 ladsr&fcanq

	 •	 gj dksbZ iQsad jgk dpjk

	 •	 lksp cnyus dh t:jr

	 •	 LoPNrk ds fy, tkx:drk visf{kr

	 ([k)	esjh jsfxLrku&;k=kk

	 ladsr&fcanq

	 •	 èkwy gh èkwy

	 •	 jkr dh 'khryrk vkSj lkSasn;Z

	 •	 rkieku ,oa yksd&laLÑfr

	 (x)	vkt+knh dk ve`r egksRlo 

	 ladsr&fcanq

	 •	 vkt+knh ds 75 o"kZ

	 •	 gj ?kj frjaxk D;ksa\

	 •	 fofHkUu dk;ZØeksa dk vk;kstu

15.	 (d)	�vki lkfgy@lkjk gSaA uxj&fuxe vfèkdkjh dks yxHkx 

100 'kCnksa esa i=k fy[kdj vius eksgYys ds ikdZ dh 

nqO;ZoLFkk dks lqèkkjus dk fuosnu dhft,A ikdZ esa fctyh 

vkSj LoPNrk dk vHkko gS] ftlds dkj.k og vlkekftd 

rRoksa dk vM~Mk cu x;k gSA� 5

vFkok

	 ([k)	vki lqjfHk@lkSjHk gSaA vki cSaxyq# ?kweus tkus okys gSaA 

fdlh gksVy ds izcaèkd dks] Bgjus rFkk ?kweus dh O;oLFkk dk 

O;; vkfn tkuus ds fy, yxHkx 100 'kCnksa esa i=k fyf[k,A

16.	 (d)	�fo|ky; ds lkaLÑfrd lfpo ds :i esa vki 

^varfoZ|ky;h; dgkuh izfr;ksfxrk* dh tkudkjh nsrs gq, 

Nk=kksa dks blesa Hkkx ysus ds fy, izksRlkgu gsrq yxHkx 60 

'kCnksa esa ,d lwpuk rS;kj dhft,A� 4

vFkok

	 ([k)	�NqV~Vh ds ckn Ldwy dh cl ls ?kj tkrs gq, vkidk ,d 

cSx cl esa gh NwV x;kA cl dk :V ua- vkSj vius cSx 

dk fooj.k nsrs gq, fo|ky; ds lwpuk iV~V ij yxkus ds 

fy, ,d lwpuk yxHkx 60 'kCnksa esa fyf[k,A� 4
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17.	 (d)	�Ldwy cSx cukus okyh daiuh fo|kfFkZ;ksa ds fy, fo'ks"k cSx 

ckt+kj esa ykuk pkgrh gS] mlds fy, vkd"kZd foKkiu 

yxHkx 40 'kCnksa esa rS;kj dhft,A� 3

vFkok

	 ([k)	yky ckx esa iq"i&izn'kZuh dk vk;kstu fd;k tk jgk gSA 

mlds izpkj ds fy, ,d vkd"kZd foKkiu yxHkx 40 'kCnksa 

esa rS;kj dhft,A� 3

18.	 (d)	¶vHkh èkwi ped jgh Fkh fd vpkud vkdk'k esa dkys 

cknyksa dk lkezkT; Nk x;k vkSj rHkh rst+ vksyksa dh ckSNkj us 

lM+d ij èkek&pkSdM+h epk nh---¸ bl dFkk dks yxHkx 100 

'kCnksa esa vkxs c<+kdj fyf[k,A� 5

vFkok

	 ([k)	uxj&fuxe ds LokLF; vfèkdkjh dks yxHkx 100 'kCnksa esa 

,d bZ&esy fyf[k, ftlesa [kk| inkFkks± esa feykoV ij vadq'k 

yxkus ds fy, dM+s dne mBkus dk vkxzg fd;k x;k gksA� 5
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[k.M ¶v¸

uksV

x|ka'k esa dgh xbZ eq[; ckrksa dks vius 'kCnksa esa foLrkj osQ lkFk 
O;Dr fd;k tkrk gS rRi'pkr mlosQ ewy Hkko dks Li"V fd;k 
tkrk gS

1.	 I.	 (a)		  II.	 (d)
	 III.	 (b)		  IV.	 (d)

	 V.	 (d)
2.	 I.	 (a )		  II.	 (b)
	 III.	 (b)		  IV.	 (b)
	 V.	 (d)
3.	 I.	 (d)		  II.	 (d)
	 III.	 (c)		  IV.	 (b)
	 V.	 (d)
4.	 I.	 (c)		  II.	 (b)
	 III.	 (c)		  IV.	 (a)
	 V.	 (a)
5.	 I.	 (b)		  II.	 (d)
	 III.	 (c)		  IV.	 (c)
	 V.	 (d)
6.	 I.	 (c)		  II.	 (d)
	 III.	 (a)		  IV.	 (b)
	 V.	 (d)
	 VI.	 (c)
7.	 I.	 (d)		  II.	 (c)
	 III.	 (b)		  IV.	 (a)
	 V.	 (c)
8.	 I.	 (c)		  II.	 (c)
9.	 I.	 (b)		  II.	 (d)
	 III.	 (b)		  IV.	 (d)
	 V.	 (c)
10.	 I.	 (d)		  II.	 (d)

[k.M ¶c¸

11.	 (d)

	 26 tuojh 1931 dk fnu fo'ks"k blfy, Fkk] D;ksafd bl fnu 

xqyke Hkkjr esa igyh ckj Lora=krk fnol euk;k tk jgk FkkA 

;g fo'ks"k vk;kstu dydÙkk esa euk;k tk jgk Fkk D;ksafd rc 

rd ogk¡ dqN [kkl ugha gqvk Fkk ftlls muds uke ij dyad 

yx x;k Fkk� (2) 

  	 26 tuojh 1931 ds fnu dks vej cukus ds fy, yksxksa us vius 
edkuksa ij >aMs iQgjk fn,A çpkj ds fy, gh 2000 #i;s [kpZ 
fd, x,A dbZ LFkkuksa ij tqywl ,oa lHkkvksa ds vk;kstu dks 
lqfuf'pr fd;k x;kA cM+s&cM+s usrk vius dk;ZdrkZvksa ,oa vius 
leFkZdksa ds lkFk tqywl fudkyus ,oa >aMkjksg.k djus ds fy, 
lkoZtfud LFkkuksa ij igqapus yxsA

	 ([k)

	 fiQYedkj 'kSysaæ ds ckjs esa ys[kd us dgk gS fd os ,d fo'ks"k 
çdkj ds laokn vkSj O;aX; dk mÙke çfrfufèkRo djrs FksA mudh 
jpukvksa esa lkekftd eqíksa dk laokfnr djus dh [kkfl;r Fkh] 
tks vke turk dh Hkkoukvksa dks Nwus dh {kerk j[krh FkhA muds 
fiQYeksa esa O;aX; vkSj laokn ds ekè;e ls lkekftd mRFkku vkSj 
vèkksxfr dk eqík mBk;k x;kA blds vykok] mudh jpukvksa 
esa ekuork vkSj balkfu;r dh egÙkk dks mtkxj fd;k x;k gSA 
mudh dgkfu;ksa esa xgjk laosnu'khyrk vkSj ekuoh; lacaèkksa dks 
mtkxj fd;k x;k gSA bu lHkh fo'ks"krkvksa ds ekè;e ls] 'kSysaæ 
dh Nfo euq";rkoknh] lektlsoh vkSj fopkj'khy O;fDrRo ds 
:i esa mHkjrh gSA� (2)

	 (x)

	 ek¡ ges'kk esjs fy, ,d çsj.kk dk lzksr jgh gSaA mUgksaus eq>s 
fl[kk;k fd nwljksa ds nq[k dks le>us vkSj mUgsa lgkuqHkwfr nsus esa 
lathouh 'kfDr gksrh gSA mUgksaus ges'kk fl[kk;k fd lPps [kqf'k;ksa 
dk vlyh vFkZ nwljksa ds lkFk ckaVus esa gSA ek¡ ds 'kCnksa us eq>s 
le>k;k fd thou esa liQyrk vkSj lq[k dk vlyh ekinaM 
gekjs fny dh xgjkbZ esa fNik gksrk gS] u fd fliQZ vkfFkZd 
le`f¼ ;k lkekftd fLFkfr esaA mudh lh[kus ls eSaus nwljksa ds 
lkFk mRÑ"V lacaèk cukus dk egÙo le>k gS] tks esjs thou 
dks le`¼ vkSj vFkZiw.kZ cukrk gSA mudh bl çsj.kknk;d f'k{kk 
us eq>s ,d mnkj vkSj lgkuqHkwfriw.kZ n`f"Vdks.k çnku fd;k gS] 
ftlls eSa vius lekt esa ldkjkRed ifjorZu ykus dh dksf'k'k 
djrk gw¡A� (2)

12.	 (d)

	 ehjk JhÑ".k ds n'kZuksa ds fy, vR;ar HkfDr vkSj leiZ.k ds 
lkFk fofHkUu dk;Z djus dks rRij gSaA os pkdjh (lsok) djus] 
n'kZu ds fy, mBus] muds Hktu xkus] lqfeju djus] vkSj 
Hkko&HkfDr dh tkxhjh çkIr djus dh bPNk O;Dr djrh gSaA os 
o`Uækou dh dqat xfy;ksa esa xksfoUn dh yhykvksa dk xku djus] 
Hkxoku ds mPp LFkkuksa esa jgus] vkSj vkèkh jkr esa tequk ds 
rhj ij çHkq ds n'kZu ikus dh vfHkyk"kk j[krh gSaA

	 bu dk;ksZa ls ehjk ds JhÑ".k ds çfr vVwV çse vkSj vè;kfRed 
leiZ.k dk irk pyrk gSA mudh HkfDr fuLokFkZ vkSj ,dfu"B 
gS] ftlesa os vius thou dks iwjh rjg ls Hkxoku dh lsok vkSj 

O;k[;k lfgr gy
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muds çfr vius çse dks lefiZr djus dks rS;kj gSaA ehjk dh 
HkfDr esa ,d xgjh O;fDrxr vuqHkwfr vkSj vkRe&leiZ.k dh 
Hkkouk fufgr gS] tks mUgsa bZ'ojh; çse dh vf}rh; mPpkbZ;ksa 
rd ys tkrh gSA� (2)

	 ([k)

	 dSi+Qh vkt+eh dk ;g xhr ^dj pys ge fiQnk---- Hkkjrh; 
lSfudksa dh vf}rh; ohjrk] R;kx] vkSj ns'kHkfDr ds ckjs esa 
fy[kk x;k gSA xhr esa muds lkgl vkSj leiZ.k dh xgjkbZ dk 
fp=k.k fd;k x;k gS] tgka os viuh tkuksa dh ijokg fd, fcuk] 
ns'k dh vkt+knh vkSj lEeku dh j{kk ds fy, vkxs c<+rs gSaA 
xhr mudh vVwV bPNk'kfDr vkSj n`<+ ladYi dks çdV djrk 
gS] tks foijhr ifjfLFkfr;ksa esa Hkh ugha fMxrsA lSfudksa dk ;g 
n`f"Vdks.k mUgsa ns'k ds fy, mYys[kuh; cfynku nsus dh çsj.kk 
nsrk gSA� (2)

	 (x)

	 vkRe=k.k dfork ls gesa çsj.kk feyrh gS fd ge vius dke ,oa 
nkf;Roksa dks iwjh fu"Bk ,oa bZekunkjh ds lkFk iw.kZ djsaA ge vius 
dk;ksZa ds fy, bZ'oj ij fuHkZj u jgsa] cfYd Lo;a ds vUnj ,slh 
'kfDr ,oa {kerk fodflr dj ysa] ftlls fo"ke ifjfLFkfr;ksa 
,oa dfBukb;ksa ls tw>us dh 'kfDr gekjs vUnj ekStwn gksA gekjk 
vkRecy ,oa ijkØe Mxexk, ughaA ge bZ'oj ij dHkh Hkh 
la'k; u djsaA mudh {kerk vlhfer gS] ysfdu vius çHkq ls gesa 
vius nq%[kksa dks gjus dh ;k lekIr djus dh çkFkZuk ugha djuh 
pkfg,A gesa bZ'oj dh {kerk ij la'k; u djds mudk vk'khokZn 
çkIr djus rFkk 'kfDr ,oa lkgl çnku djus dh çkFkZuk djuh 
pkfg,] rkfd ge viuh eqlhcrksa ls Lo;a gh la?k"kZ dj ldsaA

(2)

13.	 (d)

	 ys[kd dk gfjgj dkdk ls ?kfu"B tqM+ko nks çeq[k dkj.kksa ls 
Li"V gksrk gSA igyk] gfjgj dkdk ys[kd ds iM+ksl esa jgrs Fks] 
vkSj nwljk] cpiu ls gh dkdk us ys[kd dks vius ifjokj ds 
lnL; dh rjg I;kj vkSj nqykj fn;kA mUgksaus ys[kd dks vius 
daèks ij cSBkdj ?kqekus ds vuqHko ls ysdj] muds l;kuk gksus 
ij muds igys fe=k cuus rd] ,d xgjk vkSj O;fDrxr lacaèk 
fodflr fd;kA ;g tqM+ko dsoy ikjLifjd lEeku vkSj çse 
ij vkèkkfjr ugha gS] cfYd oSpkfjd vkSj HkkoukRed xgjkbZ dks 
Hkh n'kkZrk gS] ftlds dkj.k ys[kd gfjgj dkdk ds fy, xgjh 
fpark vkSj laosnuk eglwl djrk gSA� (2)

	 ([k)

	 ys[kd dks cpiu esa ?kkl vfèkd gjh vkSj iQwyksa fd lqxaèk 
vfèkd eueksgd yxrh FkhA Ldwy ds vanj tkus ls jkLrs ds 
nksuksa vksj tks vfy;kj ds cM+s <ax ls dVs&Nk¡Vs >kM+ mxs Fks] 
muds uhe ds iÙkksa tSls iÙkksa dh egd vkt Hkh mUgsa fo'ks"k 
:i ls ;kn gSA mu fnuksa Ldwy dh NksVh D;kfj;ksa esa iQwy Hkh 

dbZ rjg ds mxk, tkrs Fks ftuesa xqykc] xsank vkSj eksfr;k dh 
nwèk&lh li+Qsn dfy;k¡ Hkh gqvk djrhaA ;s dfy;k¡ bruh lqanj 
vkSj [kq'kcwnkj gksrh Fkha fd ge panw piM+klh ls vk¡[k cpkdj 
dHkh&dHkkj ,d&nks rksM+ fy;k¡ djrsA lqxaèk vkt Hkh eglwl 
dj ikrk gw¡] ijarq ;g ;kn ugha fd mUgsa rksM+dj] dqN nsj 
lq¡?kdj fiQj D;k fd;k djrsA� (2)

	 (x)

	 Vksih dh bÝ+i+Qu dh nknh ls ?kfu"B nksLrh dh tM+sa mldh nknh 
ds }kjk lqukbZ xbZ jkspd dgkfu;ksa vkSj muds chp ds I;kj esa 
fufgr gSaA bÝ+i+Qu ds ?kj tkus ij] Vksih vDlj bÝ+i+Qu dh nknh 
ds ikl cSBuk ilan djrk Fkk] tgk¡ mls bÝiQu dh nknh vkSj 
mudh Hkk"kk esa ,d lqdwu feyrk FkkA mudh cksyh cgqr Hkkrh 
Fkh] vkSj og bls viuh ek¡ dh cksyh ls tksM+rk Fkk] ftls og 
cgqr ilan djrk FkkA nknh dh dgkfu;k¡ vkSj muds }kjk mls 
fn;k x;k I;kj vkSj Lusg Vksih ds fy, csgn vge FkkA blds 
foijhr] Vksih viuh nknh ls uiQjr djrk FkkA bl çdkj mudh 
nksLrh ,d xgjs O;fDrxr lacaèk vkSj le> ds vkèkkj ij Fkh] 
ftlus Vksih dks ,d oSdfYid ikfjokfjd lEcUèk dh vuqHkwfr 
çnku dhA� (2)

uksV

vuqPNsn fdlh Hkh 'kCn] lq=k ls laca/ fopkj ,oa Hkkoksa dks vftZr] 
Kku] futh vuqHkwfr ls latksdj izokge;h 'kSyh ds ekè;e ls Li"V 
fd;k tkrk gSA

14-	 (d)	               lM+d dks dpjs ls cpkvksa

	 ladsr fcanq

	 gj dksbZ iQsad jgk dpjk� (5)

	 lM+dksa ij dpjk iQsadus ls dbZ v'kqHk ifj.kke gksrs gSaA igys 
rks ;g i;kZoj.k dks {kfr igqapkrk gSA iQsadk x;k dpjk çnw"k.k 
dk dkj.k curk gS ftlls ty] ok;q] vkSj feV~Vh nq"çHkkfor 
gksrh gSA ;g LokLF; ,oa lqj{kk lcaèkh leL;kvksa dks Hkh mRiUu 
dj ldrk gS] D;ksafd ;g ePNj vkSj chekfj;ksa dk dkj.k cu 
ldrk gSA blds vfrfjDr lM+dksa ij dpjk iQsadus ls lekt esa 
vkykspuk vkSj vlqj{kk dh Hkkouk Hkh c<+ ldrh gSA blfy, 
bls gy djus ds fy, tulkekU; dks tkx:d djus vkSj 
leqnk;ksa dks mfpr iQSlys ysus ds fy, dBksj dne mBkus dh 
vko';drk gSA

	 lksp cnyus dh t:jr

	 dpjk lM+dksa ij uk iQsadk tk, blds fy, lksp esa cnyko 
dh vko';drk gSA gesa lkekftd lpsrrk vkSj tkx:drk 
dk fujarj ç;kl djuk pkfg,A blds fy, gesa f'k{kk vkSj 
tkx:drk ds lkFk&lkFk dkuwu dk ikyu djus dh Hkh t:jr 
gSA tc yksx le>saxs fd dpjk iQsaduk iwjs leqnk; ds LokLF; 
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vkSj i;kZoj.k ds fy, fdruk gkfudkjd gks ldrk gS] rc ge 
lc feydj bl leL;k dks gy djus ds fy, dne mBk ldrs 
gSaA

	 LoPNrk ds fy, tkx:drk vfHk;ku

	 tkx:drk vfHk;ku ds dqN egRoiw.kZ igyw fuEufyf[kr gks 
ldrs gSa%

	 	 ^LoPN Hkkjr* vfHk;ku% ;g ,d jk"Vªh; Lrj dk vfHk;ku 
gS ftldk mís'; xfy;ksa] lM+dksa rFkk vèkkslajpuk dks 
lkiQ&lqFkjk djuk vkSj dwM+k lkiQ j[kuk gSA ;g vfHk;ku 
2 vDVwcj] 2014 dks vkjEHk fd;k x;kA jk"Vªfirk egkRek 
xk¡èkh us ns'k dks nklrk ls eqDr djk;k] ijUrq ̂ LoPN Hkkjr* 
dk mudk liuk iwjk ugha gqvkA

	 	 tkx:drk vfHk;ku% yksxksa dks LoPNrk ds egRo vkSj 
LoPNrk ds ykHkksa ds ckjs esa f'kf{kr fd;k tk ldrk gSA 
yksxksa dks çsfjr fd;k tk ldrk gS rkfd os Lo;a LoPNrk 
ds çfr ltx jgsa vkSj vius vklikl dks lkiQ j[ksaA

	 	 dkuwuh laKku% yksxksa dks LoPNrk lacaèkh dkuwuksa ds ckjs esa 
tkudkjh nh tk ldrh gS rkfd os dkuwuksa dk ikyu djsaA

	 	 lkewfgd vfHk;ku% leqnk; esa lkewfgd liQkbZ vfHk;kuksa 
dk vk;kstu fd;k tk ldrk gS tks LoPNrk dh tkx:drk 
c<+k ldrs gSaA

	 	 rduhdh mik;% fofHkUu rduhdh ekè;eksa dk mi;ksx 
fd;k tk ldrk gS] tSls fd lks'ky ehfM;k] osclkbV~l] 
vkSj laoknkRed dk;ZØe tks tkx:drk dks c<+k ldrs gSaA

	 ([k)	                esjh jsfxLrku ;k=k

	 ladsr fcanq%

	 èkwy gh èkwy� (5)

	 jsfxLrku ;k=kk vfo'oluh; vuqHkoksa dh ,d vf}rh; ;k=kk gksrh 
gSA ogk¡ dh èkwy] okLro esa ,d vyx gh vuqHko vkSj thou 
dh lPpkbZ fl[kkrh gSA jsfxLrku esa ;k=kk djuk lkgfldrk dk 
vuqHko djkrk gSA ;gka fofHkUu çdkj dh ifjfLFkfr;ksa dk lkeuk 
djuk iM+rk gS] tSls fd mPpre rkieku] èkwi] vkSj jsfxLrkuh 
tyok;qA blfy, bl ;k=kk esa 'kkjhfjd vkSj ekufld lkeF;Z 
dks ijh{k.k djus dk ekSdk feyrk gSA ;g gekjh lhekvksa dks 
ikj djus dh {kerk fn[kkrk gSA tks thou esa lgk;d vkSj 	
çsj.kknk;d lkfcr gks ldrs gSaA

	 jkr dh 'khryrk vkSj lkSan;Z

	 jkr dh jsfxLrkuh 'khryrk vkSj lkSan;Z ,d vf}rh; vkSj 	

çsj.kknk;d vuqHko gks ldrk gSA jkr ds le; jsfxLrku esa vU; 

LFkyksa ls vyx gksdj okLrfod Lora=krk vkSj 'kkafr dk vuqHko 

gksrk gSA ;gk¡ dqN dkj.k gSa tks jkr dh jsfxLrkuh 'khryrk vkSj 

lkSan;Z dks fo'ks"k cuk nsrs gSa%

	 	 flrkjksa dh ped% jsfxLrku esa jkr ds le; vkleku esa 
fc[kjs flrkjs vuarrk vkSj 'kkafr dk vuqHko djkrs gSaA ;g 
,d vf}rh; vkSj lqanj n`'; gksrk gS tks eu dks 'kkafr vkSj 
çlUurk esa ys tkrk gSA

	 	 pk¡nuh dh jks'kuh% jkr dh jsfxLrkuh ;k=kk esa pk¡n dh 
jks'kuh dk vuqHko djuk okLro esa vf}rh; gksrk gSA pk¡n 
ds pedrs gq, rkjs vkSj pk¡nuh ds çdk'k ls jsfxLrku dk 
ekgkSy vkSj Hkh jksekapd vkSj lkSan;Ziw.kZ cu tkrk gSA

	 	 pqIih vkSj 'kkafr% jkr ds le; jsfxLrku esa pqIih dk 
vuqHko djuk vR;ar 'kkafriw.kZ gksrk gSA ;gk¡ dksbZ 'kksj vkSj 
mRlkg ugha gksrk] fliQZ 'kkafr vkSj pqIih dh vuqHkwfr gksrh 
gS tks eu dks varjkRek ds lkFk tksM+rh gSA

	 	 çkÑfrd lkSan;Z% jkr ds le;] jsfxLrku dk çkÑfrd lkSan;Z 
Hkh fo'ks"k :i ls çdV gksrk gSA pk¡nuh dh jks'kuh esa] jsfxLrku 
dh èkjrh] NksVs&NksVs ikSèks vkSj muds Nk;kafdr çfrfcEc ,d 
vf}rh; vkSj lkgfld ifjǹ'; esa ys tkrs gSaA

	 rkieku ,oa yksd&laLÑfr

	 jsfxLrkuh ;k=k ds nkSjku rkieku ,oa yksd&laLÑfr dk 	
egRoiw.kZ ;ksxnku gksrk gSA ;gk¡ bl ;k=kk ds nks eq[; igyqvksa 
ds ckjs esa foLr`r fooj.k gSa%

	 rkieku%

	 	 jsfxLrkuksa esa rkieku fnu ds le; vR;fèkd Å¡pk gksrk gS 
vkSj jkr ds le; cgqr gh fuEu gksrk gS ftlls 'kjhj dks 
vuqdwfyr djuk iM+rk gSA

	 	 ;g ;k=kk 'kkjhfjd lkeF;Z dks ijh{k.k djus dk volj 
çnku djrh gS] D;ksafd 'kjhj dks mPp vkSj fuEu rkieku 
ds lkFk la?k"kZ'khy gksuk iM+rk gSA

	 yksd&laLÑfr%

	 	 jsfxLrku {ks=kksa esa LFkkuh; yksxksa dh thou'kSyh] mudh 
ijEijk,a] vkSj LFkkuh; laLÑfr fo'ks"k egRoiw.kZ gksrh gSa 
vkSj viuh thou'kSyh dks ifjos'k ds vuqlkj lek;ksftr 
djrs gSaA

	 	 jsfxLrku esa thus ds fy, yksxksa dks vius laLÑfr ds rRoksa 
dks le>uk vkSj vuqlj.k djuk iM+rk gSA ;g mudh 
lkekftd lajpuk] [kk| lacaèkh ijaijk,a vuqHko djus dk 
ekSdk nsrh gSA

	 (x)	           vktknh dk ve`r egksRlo

	 ladsr fcanq%
	 vktknh ds 75 o"kZ� (5)
	 ^^vktknh dk ve`r egksRlo** Hkkjr ds Lora=krk ds 75 o"kZ ds 

mRlo dks ;kn djus vkSj eukus dk ,d egku volj gSA ;g 
egksRlo ns'kokfl;ksa dks muds Lora=krk la?k"kZ ds egku xkSjo 
dks Lej.k djus dk ekSdk nsrk gS] tc os vaxzstksa ds 'kklu ds 
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f[kykiQ mBs vkSj vius ns'k dks Lora=krk dh vksj ys tkus ds 
fy, thou dk leiZ.k fd;kA blds }kjk ge Lora=krk lsukfu;ksa 
vkSj muds cfynku dks lefiZr djrs gSa ftUgksaus gesa Lora=krk 
dk migkj fn;kA 

	 gj ?kj frjaxk D;ksa\

	 ^^gj ?kj frjaxk** dk vfHkçk; ;g gS fd gj Hkkjrh; ukxfjd 
dks vius ?kj esa jk"Vªh; èot] ;kuh frjaxk] dk lEeku djuk 
pkfg,A frjaxk u dsoy Hkkjr dh Lora=krk dk çrhd gS] cfYd 
;g ns'kHkfDr] xoZ] vkSj ,drk dk çrhd Hkh gSA Hkkjrh; 
lafoèkku ds vuqlkj jk"Vªh; èot dk lEeku djuk gekjk drZO; 
gSA blds vykok frjaxk ,d ,slk çrhd gS tks gesa gekjs ns'k 
ds ewY;ksa] uSfrdrk] vkSj ,drk dh vksj çsfjr djrk gSA blfy, 
^^gj ?kj frjaxk** ,d lkaLÑfrd vkSj jk"Vªh; vkn'kZ gS tks gesa 
gekjs jk"Vªh; èot ds çfr lefiZrrk vkSj lEeku dks c<+kok 
nsrk gSA nksuksa volj ,d lkFk tqM+rs gSa rkfd ge vius ns'k ds 
Lora=krk ds bfrgkl dk lEeku djsa vkSj mldh ewY;oku ckrksa 
dks le>sa vkSj Lora=k Hkkjr ds mRFkku esa viuk lg;ksx nsaA

	 fofHkUu dk;ZØeksa dk vk;kstu 

	 ^^vktknh dk ve`r egksRlo** ds varxZr fofHkUu dk;ZØe 
vk;ksftr fd, tk jgs gSa vkSj yksxksa dks bl egRoiw.kZ volj ds 
egRo dks le>kus vkSj Lora=krk ds egku xkSjo dks Lej.k djus 
ds fy, çsfjr djrs gSaA ;gka dqN çeq[k dk;ZØeksa dk mYys[k 
fd;k x;k gS%

	 	 jk"Vªh; rhFkZ;k=k vfHk;ku% ;g dk;ZØe Hkkjr ds çeq[k 
èkkfeZd LFkyksa dh ;k=k dks le`¼ djrk gS vkSj yksxksa dks 
muds egRo dks le>us vkSj Lora=krk ds egku vuqHkoksa 
dks lk>k djus ds fy, çsfjr djrk gSA

	 	 vktknh ds 75 lIrkg% bl dk;ZØe esa yksxksa ds chp 
fofHkUu lkekftd vkSj lkaLÑfrd çfr;ksfxrk,a] dk;Z'kkyk,a] 
vkSj lekjksgksa dk vk;kstu fd;k tkrk gSA

	 	 vktknh ds 75 lkIrkfgd laxzgky;% bl dk;ZØe esa 
fofHkUu ,sfrgkfld LFkyksa ij vkèkkfjr laxzgky; vk;ksftr 
fd, tkrs gSa tks Hkkjrh; Lora=krk laxzke ds egRoiw.kZ 
?kVukvksa dks lefiZr djrs gSaA

	 	 Lora=krk ds xhr vkSj u`R; laè;k% bl dk;ZØe esa 
LFkkuh; dykdkjksa }kjk Hkkjrh; Lora=krk laxzke ls çsfjr 
laxhr vkSj u`R; dk çn'kZu fd;k tkrk gSA

	 	 jk"Vªh; ,FkysfVDl egksRlo% bl dk;ZØe esa jk"Vªh; 
Lrj ij [ksy çfr;ksfxrkvksa dk vk;kstu fd;k tkrk gS tks 
jk"Vªh; ,drk] lkefjdrk vkSj 'kkS;Zrk dks c<+kok nsrs gSaA

15.	 (d)
	 fnukad&5 ebZ] 20XX� (5)
	 lsok esa]
	 uxj&fuxe vfèkdkjh]

	 fo"k; & eksgYys ds ikdZ dh nqO;ZoLFkk dks lqèkkjus ds lcaèk esa 
	 Jheku th]
	 esjk uke lkfgy gS] eSa vius eksgYys ds ikdZ dh nqO;ZoLFkk 

ds lacaèk esa vkidks lwfpr djuk pkgrk gw¡A gekjs ikdZ esa 
fctyh vkSj LoPNrk dh cgqr gh deh gS] ftlls ;g LFkku 
vlkekftd rRoksa ds fy, vkd"kZ.k dk dsaæ cu x;k gSA ;g 
gekjs leqnk; ds fy, ,d LokLF; vkSj ldkjkRed ekgkSy 
fufeZr djus ds fy, egRoiw.kZ gSA

	 eSa vkils fuosnu djrk gw¡ fd Ñi;k bl leL;k dk fujkdj.k 
djsa vkSj ikdZ dh fLFkfr dks lqèkkjsaA fctyh dh O;oLFkk dks 
lqèkkjk tk, vkSj LoPNrk ds fy, fu;fer liQkbZ djkbZ tk,A 
;g mUgsa ,d lqjf{kr vkSj LoPN ekgkSy çnku djsxk tks gekjs 
leqnk; ds fy, mi;ksxh gksxkA

	 vkils fuosnu gS fd bl leL;k dk lekèkku djus dh tYn 
ls tYn Ñik djsaA

	 èkU;oknA
	 Hkonh;]
	 lkfgy

vFkok
	 ([k) � (5)
	 fnukad&5 ebZ] 20XX
	 lsok esa]
	 XYZ gksVy çcaèkd] cSaxyq#
	 fo"k;&gksVy lcaèkh O;;LFkk ds tkudkjh ds lcaèk esa]
	 Jheku th]
	 eSa vkids gksVy esa Bgjus dh ;kstuk cuk jgk gw¡] vkSj eq>s 

vkils dqN tkudkjh pkfg,A eq>s gksVy dh vkoklh; O;oLFkk] 
Hkkstu dk O;;] vkSj vU; lqfoèkkvksa ds fy, tkudkjh pkfg,A 
Ñi;k eq>s vkids gksVy dh lqfoèkkvksa] Bgjus dh dher] vkSj 
Hkkstu ds fy, vuqekfur O;; crk,aA

	 vkxkeh fnuksa eSa cSaxyq# vkus okyk gw¡] vkSj eSa vkids gksVy esa 
Bgjuk pkgrk@pkgrh gw¡A eq>s vkids gksVy dh lqfoèkkvksa vkSj 
lsokvksa ds ckjs esa lEiw.kZ tkudkjh pkfg, rkfd eSa viuh ;k=kk 
dks lqfoèkktud cuk ldw¡A

	 Ñi;k eq>s tYn ls tYn vko';d tkudkjh çnku djsaA

	 èkU;okn]

	 Hkonh;]

	 lkSjHk

16.	 (d)

	 ^varfoZ|ky;h; dgkuh çfr;ksfxrk* 

esa Hkkx ysus ds fy, lwpuk

	 fnukad&5 ebZ 20XX� (5)

	 lHkh Nk=k@Nk=kkvksa dks ^varfoZ|ky;h; dgkuh çfr;ksfxrk* esa 

Hkkx ysus ds fy, lwfpr djrs gSaA bl çfr;ksfxrk esa vki viuh 

jpukRedrk vkSj lkfgfR;d {kerk dk çn'kZu dj ldrs gSaA ;g 
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vkids lkaLÑfrd fodkl ds fy, ,d egRoiw.kZ volj gks 

ldrk gSA çfr;ksfxrk ds fu;eksa vkSj çkoèkkuksa ds ckjs esa vfèkd 

tkudkjh ds fy, lacafèkr fo|ky; ds lkaLÑfrd lfpo ls 

laidZ djsaA

	 vfèkd tkudkjh ds fy, èkU;oknA

	 lkSjHk

	 lkaLÑfrd lfpo

vFkok

	 ([k)       vknj.kh; fo|ky; ç'kklu]� (4)

[kks;k&ik;k lanHkZ esa

	 eSaus vkt cl esa viuk ,d cSx NwV x;k gS] ftlesa esjh iqLrdsa 

vkSj uksVcqd gSaA cl dk :V uacj PQ gSA Ñi;k esjs cSx dks 

[kkstus esa enn djsa vkSj mls Ldwy dh lwpuk iV~V ij yxk nsaA 

;g esjs fy, vR;ar egRoiw.kZ gSA èkU;oknA

	 lgh fooj.k%

	 cSx dk jax% dkyk&uhyk 

	 cSx esa oLrqvksa dh lwph% 10th Dykl dh eSFk vkSj foKku dh 

iqLrd] fVfiQu ckWDl] vkStkj ckWDlA 

	 èkU;okn]

	 XYZ

17.	 (d)

	 	

vFkok

	 ([k)

	

18.	 (d)� (5)

	 èkwi dh ped ds ckn vpkud vkdk'k iwjh rjg ls dkys 

cknyksa ls Nk x;kA èkjrh dks vaèkdkj us <+d fy;k vkSj rst+ 

vksyksa dh ckSNkj us lM+d ij èkek&pkSdM+h epk nhA yksx Hkkxus 

yxs vkSj ,d&nwljs dh enn ds fy, gkFkksa dk lkFk nsus yxsA 

cknyksa dh vpkud ifjorZu us lHkh dks vkpafHkr dj fn;kA 

cktkj dh pgy&igy vpkud ls Fke xbZ] vkSj gj dksbZ vksyksa 

ls cpus ds fy, 'kj.k dh ryk'k esa yx x;kA cPps] tks dqN 

gh iy igys rd [ksy jgs Fks] vc viuh ekrkvksa dh xksn esa 

fleV x, FksA ogha] dqN lkglh ;qok vksyksa ds chp nkSM+ yxk 

jgs Fks] bl vuks[ks n`'; dk vkuan mBkrs gq,A tSls&tSls ckSNkj 

Fkeh] lM+d ij ,d liQsn pknj lh fcN xbZA vkdk'k ls 

>kadrh èkwi us ml liQsnh dks vkSj Hkh pedhyk cuk fn;kA yksx 

vius dke dkt esa ykSV vk,] ysfdu bl ?kVuk us lcds fnyksa 

esa ,d xgjh Nki NksM+ nhA ;g fnu lcds fy, ,d ;knxkj 

iy cu x;k] ftls os yacs le; rd ;kn j[ksaxsA vksyksa dh og 

vpkud ckSNkj us u dsoy èkjrh dks liQsn pknj esa yisVk] 

cfYd yksxksa ds fnyksa dks Hkh ,d vuks[kh [kq'kh vkSj lkgl ls 

Hkj fn;kA 

	 bl ?kVuk us gesa ;g fl[kk;k fd thou esa gesa ges'kk rS;kj 

jguk pkfg,] D;ksafd vfuf'prrk dHkh Hkh gekjs lkeus vk 

ldrh gS vkSj gesa mlls fuiVus dh {kerk gksuh pkfg,A

	 ([k)

	 fnukad&5 ebZ 20XX� (5)

	 lsok esa]

	 LokLF; i<+kfèkdkjh]

	 fo"k;% [kk| inkFkksZa esa feykoV ij vadq'k yxkus ds fy, dM+s 

dne mBkus dk vkxzg

	 Jheku th]

	 eSa vkidks lwfpr djuk pkgrk gw¡ fd gekjs uxj esa [kk| inkFkksZa 

esa feykoV dh fLFkfr fparktud gSA ;g [krjukd gks ldrk 

gS vkSj yksxksa ds LokLF; dks [krjs esa Mky ldrk gSA gesa bl 

ekeys dks xaHkhjrk ls ysuk pkfg, vkSj dM+s dne mBkus pkfg,A

	 eSa vkils fuosnu djrk gw¡ fd vki lacafèkr foHkkxksa ds lkFk 

feydj bl eqís ij dkjZokbZ djsaA laHkkouk gS fd ,slh dM+h 

dkjZokbZ ls ge LFkkuh; cktkj esa feykoV dks jksd ldsa vkSj 

yksxksa ds LokLF; dks lqjf{kr cuk ldsaA

	 èkU;oknA

	 Hkonh;] 

	 lkSjHk
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SECTION - A

This section comprises Multiple Choice Questions (MCQs) 
of 1 mark each.� 20 × 1 = 20
1.	 The next (4th) term of the A.P. 18, 50, 98,...   is:
	 (a)	 128 	 (b)	 140 	
	 (c)	 162 	 (d)	 200

2.	 If 
x y

2sin A, 2cos A,
3 3
= =  then the value of x2 + y2 is:

	 (a)	 36	 (b)	 9
	 (c)	 6	 (d)	 18
3.	 If 4 sec q – 5 = 0, then the value of cot q  is:

	 (a)	 3

4
	 (b)	 4

5
	 (c)	 5

3
	 (d)	4

3
4.	 Which out of the following type of straight lines will be 

represented by the system of equations 3x + 4y = 5 and 
6x + 8y = 7?

	 (a)	 Parallel	 (b)	 Intersecting	
	 (c)	 Coincident	 (d)	 Perpendicular to each other
5.	 The ratio of the sum and product of the roots of the 

quadratic equation 5x2 – 6x + 21 = 0 is:
	 (a)	 5 : 21	 (b)	 2 : 7
	 (c)	 21 : 5	 (d)	 7 : 2

6.	 For the data 2, 9, x + 6, 2x + 3, 5, 10, 5; if the mean is 7, 
then the value of x is:

	 (a)	 9	 (b)	 6
	 (c)	 5	 (d)	 3
7.	 One ticket is drawn at random from a bag containing 

tickets numbered 1 to 40. The probability that the selected 
ticket has a number which is a multiple of 7 is:

	 (a)	 1

7
	 (b)	 1

8	

	 (c)	 1

5
	 (d)	 7

40
8.	 The perimeter of the sector of a circle of radius 21 cm 

which subtends an angle of 60° at the centre of circle, is:
	 (a)	 22 cm	 (b)	 43 cm
	 (c)	 64 cm	 (d)	 462 cm
9.	 The length of an arc of a circle with radius 12cm is 

10p cm. The angle subtended by the arc at the centre of 
the circle, is:

	 (a)	 120°	 (b)	 6°
	 (c)	 75°	 (d)	 150°

All India 2024

CBSE Board Solved Paper

Time Allowed : 3 Hours� Maximum Marks : 80

General Instructions:
Read the following instruction very carefully and strictly follow them:
	 (i)	 This question paper contains 38 questions. All questions are compulsory. 
	 (ii)	 This  question paper is divided into five sections – A, B, C, D and E.
	 (iii)	 In Section A, Question no. 1 to 18 are Multiple Choice Questions (MCQs) and questions number 19 and 20 are 

Assertion - Reason based questions of 1 mark each.
	 (iv)	 In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type questions, carrying 2 marks each.
	 (v)	 In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions, carrying 3 marks each.
	 (vi)	 In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions, carrying 5 marks each.
	 (vii)	 In Section E, Question no. 36 to 38 are Case Study Based questions, carrying 4 marks each. Internal choice is provided 

in 2 marks questions in each Case Study.
	(viii)	 There is no overall choice. However, an internal choice has been provided in 2 questions in Section B, 2 questions in 

Section C, 2 questions in Section D and 3 questions in Section E.
	 (ix)	 Draw neat diagrams wherever required. Take p = 22

7
 wherever required, if not stated.

	 (x)	 Uses of calculator is not allowed.
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10.	 The greatest number which divides 281 and 1249, leaving 
remainder 5 and 7 respectively, is:  

	 (a)	 23	 (b)	 276
	 (c)	 138	 (d)	 69
11.	 The number of terms in the A.P. 3, 6, 9, 12, ..... , 111 is:	

(a)	 36	 (b)	 40
	 (c)	 37	 (d)	 30
12.	 The chord of a circle of radius 10 cm subtends a right 

angle at its centre. The length of the chord (in cm) is:

A B

O

1
0

cm

	 (a)	 5 2 	 (b)	 10 2

	 (c)	 5

2
	 (d)	 5

13.	 The LCM of three numbers 28, 44, 132 is:  
	 (a)	 258	 (b)	 231
	 (c)	 462	 (d)	 924
14.	 If the product of two co-prime numbers is 553, then their 

HCF is:  
	 (a)	 1	 (b)	 553
	 (c)	 7	 (d)	 79
15.	 If a and b are the zeroes of the polynomial 

p(x) = kx2 – 30x + 45k and a + b = ab, then the value 
of k is:

	 (a)	 2

3
− 	 (b)	 3

2
−

	
	 (c)	 3

2
	 (d)	 2

3

16.	 In the given figure, RJ and RL are two tangents to the 
circle. If ∠RJL = 42°, then the measure of ∠JOL is:  

O

J

42°

R

L
	 (a)	 42°	 (b)	 84°
	 (c)	 96°	 (d)	 138°
17.	 In the given figure, in D ABC, DE || BC. If AD = 2.4 cm, 

DB = 4 cm and AE = 2 cm, then the length of AC is:
A

B C

D E

	 (a)	 10
cm

3
	 (b)	 3

cm
10	

	 (c)	 16
cm

3
	 (d)	 1.2 cm

18.	 If a vertical pole of length 7.5 m casts a shadow 5m 
long on the ground and at the same time, a tower casts a 
shadow 24 m long, then the height of the tower is:     

	 (a)	 20 m	 (b)	 40 m
	 (c)	 60 m	 (d)	 36 m
Questions number 19 and 20 are Assertion and  
Reason based questions .Two statements are given, 
one labelled as Assertion (A) and the other is labelled 
as Reason (R). Select the correct answer to these  
questions from the codes (A), (B), (C) and (D) as given 
below:
(a)	 Both Assertion (A) and Reason (R) are true and Reason 

(R) is correct explanation of Assertion (A).
(b)	 Both Assertion (A) and Reason (R) are true  but Reason 

(R) is not the correct explanation of the Assertion (A).
(c)	 Assertion (A) is true but Reason (R) is false.
(d)	 Assertion (A) is false but Reason (R) are true.  
19.	 Assertion (A) : ABCD is a trapezium with DC || AB. E 

and F are points on AD and BC respectively, such that 

EF || AB. Then 
AE BF

.
ED FC

=
	
	 Reason (R) : Any line parallel to parallel sides of 

trapezium divides the non-parallel sides proportionally.
20.	 Assertion (A) : Degree of a zero polynomial is not  

defined.
 	 Reason (R) : Degree of a non-zero constant polynomial 

is 0.

SECTION - B

This section comprises Very Short Answer (VSA) type 
questions of 2 marks each.� 5 × 2 = 10
21.	 (a)	 If two tangents inclined at an angle of 60° are drawn 

to a circle of radius 3cm, then find the length of each 
tangent.     

OR
	 (b)	 Prove that the tangents drawn at the ends of diameter 

of a circle are parallel.

22.	 Evaluate: 
2

2 tan 30 .sec60 .tan 45

1 sin 60

° ° °

− °

23.	 If a, b are zeroes of the polynomial p(x) = 5x2 – 6x + 1, 
then find the value of a + b + ab.  

24.	 (a)	 Find the ratio in which the point P(–4, 6) divides 
the line segment joining the points A(–6, 10) and 
B(3, –8).

OR
	 (b)	 Prove that the points (3, 0), (6, 4) and (–1, 3) are the 

vertices of an isosceles triangle.
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25.	 A carton consists of 60 shirts of which 48 are good, 8 
have  major defects and 4 have minor defects. Nigam, a 
trader, will accept the shirts which are good but Anmol, 
another trader, will only reject the shirts which have 
major defects. One shirt is drawn at random from the 
carton. Find the probability that it is acceptable to Anmol.

SECTION - C

This section comprises Short Answer (SA) type questions 
of 3 marks each.� 6 × 3 = 18
26.	 (a)	 Prove that 3  is an irrational number.

OR

	 (b)	 Prove that ( )22 3+  is an irrational number, given 
that 6   is an irrational number.

27.	 (a)	 If the sum of the first 14 terms of an A. P. is 1050 and the 
first term is 10, then find the 20th term and the nth term.

OR
	 (b)	 The first term of an A. P. is 5, the last term is 45 and 

the sum of all the terms is 400. Find the number of 
terms and  the common difference of the A. P.

28.	 Prove that the parallelogram circumscribing a circle is a 
rhombus.	

29.	 Prove that: tan A cot A
1 sec A cosec A

1 cot A 1 tan A
+ = +

− −
30.	 Three unbiased coins are tossed simultaneously. Find the 

probability of getting:
	 (i)	 at least one head.
	 (ii)	 exactly one tail.
	 (iii)	two heads and one tail.
31.	 An arc of a circle of radius 10 cm subtends a right angle at 

the centre of the circle. Find the area of the corresponding 
major sector. (Use p = 3.14)

SECTION - D

This section comprises Long Answer (LA) type questions of 
5 marks each.� 4 × 5 = 20
32.	 (a)	 Find the value of 'k' for which the quadratic equation 

(k + 1)x2 – 6(k + 1)x + 3(k + 9) = 0, k ≠ – 1 has real 
and equal roots .

OR
	 (b)	 The age of a man is twice the square of the age of his 

son. Eight years hence, the  age of the man will be 
4 years more than three times the age of his son. Find 
their present ages.

33.	 From a point on a bridge across the river, the angles of 
depressions of the banks on opposite sides of the river are 
30° and 60° respectively. If the bridges is at a height of 
4 m from the banks, find the width of the river.

34.	 (a)	 In the given figure, D FEC ≅ D GDB and ∠1 = ∠2.
		  Prove that D ADE ~ D ABC.

A

B C

D E

F

1 2

3 4

G
	 OR
	 (b)	 Sides AB and AC and median AD of a D ABC are 

respectively proportional to sides PQ and PR and 
median PM of another D PQR. Show that D ABC ~ 
D PQR.

35.	 A wooden article was made by scooping out a hemisphere 
from each end of a solid cylinder, as shown in the figure. 
If the height of the cylinder is 5.8 cm and its base is of 
radius 2.1 cm, find the total surface area of the article.

SECTION - E

This section comprises  of 3 Case Study Based questions  of 
4 marks each.� 3 × 4 = 12

Case Study – 1
36.	 Essel World is one of  India's largest amusement parks that 

offers a diverse range of thrilling rides, water attractions 
and entertainment options for visitors of all ages. The 
park is known for its iconic "Water Kingdom" section, 
making it a popular destination for family outings and 
fun-filled adventure. The ticket charges for the park are 
` 150 per child and `250 per adult.

	 On a day, the cashier of the park found that 300 tickets 
were sold and an amount of `55,000 was collected.

	 Based on the above, answer the following questions:
	 (i)	 If the number of children visited be x and the number 

of adults visited by y, then write the given situation 
algebraically .					                1

	 (ii)	 (a) How many children visited the amusement park 
that day?                 		                            2
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	 OR
	 	 (b)	How many adults visited the amusement park 

that day?	                                                     2
	 (iii)	How much amount will be collected if 250 children 

and 100 adults visit the amusement park?                 1
Case Study – 2

37.	 A garden is in the shape of a square. The gardener 
grew saplings of Ashoka tree on the boundary of the 
garden at the distance of 1m from each other. He wants 
to decorate the garden with rose plants. He chose a  
triangular region inside the garden to grow rose plants. 
In the above situation, the gardener took help from the 
students of class 10. They made a chart for it which looks 
like the given figure.

A

B C

D

P

Q

R

	 Based on the above answer the following questions:
	 (i)	 If A is taken as origin, what are the coordinates of the 

vertices of DPQR?                                                    1
	 (ii)	 (a) Find distances PQ and QR.                                  2

 OR
		  (b) Find the coordinates of the point which divides 

the line segment joining point P and R in the ratio 
2 : 1 internally.                                                   2

	 (iii)	Find out if DPQR is an isosceles triangle                  1

Case Study – 3
38.	 Activities like running or cycling reduce stress and the 

risk of mental disorders like depression. Running helps 
build endurance. Children develop stronger bones and 
muscles and are less prone to gain weight. The physical 
education teacher of a school has decided to conduct an 
inter school running tournament in his school premises. 
The time taken by a group of students to run 100m, was 
notes as follows:

Time (in 
Second) 0–20 20–40 40–60 60–80 80–100

Number of 
students 8 10 13 6 3

	 Based on the above, answer the following questions:
	 (i)	 What is the median class of the above given data?  1
	 (ii)	 (a) �Find the mean time taken by the students to finish 

the race.                                                                          2
	   OR
	 	 (b) Find the mode of the above given data.�  2
	 (iii)	How many students given took time less than 60  

seconds.� 1	
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SECTION - A

1.	 (c)	 A. P is 18, 50, 98 − − − −

	 We can write as 3 2,5 2,7 2 − − − −
	 d = a2 –a1 = a3 – a3 = 2 2
	 a4 = a + 3d 

	 3 2 3 2 2 9 2 162= + × = = � [1 Mark]

2.	 (a)	
x y

sin A ,cos A
6 6

= =

x

y

6

A

	 ∴ x2 + y2 = (6)2 = 36� [1 Mark]
3.	 (d)	 4 sec q – 5 = 0

	
5

sec
4

θ =

x

4

5

�

	 By Pythagoras Theorem,  x = 3

	 4
cot

3
θ = � [1 Mark]

4.	 (a)	 Given 3x + 4y = 5; 6x + 8y = 7

	

3 4 5

6 8 7
= ≠

	

1 1 5

2 2 7
⇒ = ≠

	 Parallel lines� [1 Mark]

5.	 (b)	

( )6
Sum of roots 6 5 6 25

21Product of roots 5 21 21 7
5

− −

= = × = =

[1 Mark]

6.	 (d)	
Sum of all numbers in data

Mean
Total numbers in data

=

	

( ) ( )2 9 x 6 2x 3 5 10 5
7

7

+ + + + + + + +
⇒ =

	 ⇒	 3x + 40 = 49
	 ⇒	 3x = 49 – 40 = 9

	 9
x 3

3
⇒ = = � [1 Mark]

7.	 (b)	 We know that multiple of 7 between 1 to 40 is 7, 14, 
21, 28, 35

	 Total number of outcomes  = 40
	 Number of favourable outcomes which are multiple of 7 

is = 5

	 Probability 
5 1

40 8
= � [1 Mark]

8.	 (c)	 Perimeter of sector of circle 60
2 r 2r

360

°
= × π +

°

	  60 22
2 21 2 21 64cm

360 7

°
= × × × + × =

°
� [1 Mark]

9.	 (d)	 Subtended angle 
arc length 10 10 180

radius 12 12

π × °
= = =

	 = 150°� [1 Mark]
10.	 (c)	 Since, the number divides 281 an 1249 and leaves 

the reminder 5 and 7 respectively. So, 281–5 = 276 and 
1249 – 7 = 1242 is completely divided by the required 
number.

	 \ The greatest such number = H.C.F (276, 1242) = 138.
[1 Mark]

11.	 (c)	 a = 3, d = 6–3 = 3
	 Tn = 111
	 ⇒	 a + (n – 1)d = 111 ⇒ 3 + (n – 1)3 = 111
	 ⇒	 1 + n – 1 = 37 ⇒ n = 37� [1 Mark]
12.	 (b)	 q = 90°, radius r = 10 cm = OA = OB
	 Q OAB is a right angle triangle.
	 AO2 + OB2 = AB2

	 ⇒ 	 102 + 102 = AB2

	 ⇒ 	 AB2 = 200	
	 ⇒ 	 AB = 10 2 � [1 Mark]

13.	 (d)	 28	 =  2 × 2 × 7
		  44	 =  2 × 2 × 11
		  132	=  2 × 2 × 3 × 11

	 \ LCM (28, 44, 132) = 2 × 2 × 3 × 7 × 11 = 924
� [1 Mark]
14. 	 (a)	 Since, the numbers are co-prime. So, there will not 

be any common factor.
	 \ HCF = 1� [1 Mark]

Note

HCF of prime number is 1.

Solutions



6� MATHEMATICS-10

15. 	 (d)	 Given, p(x) = kx2 – 30x + 45k
	 Sum of zeroes 

	

( )30 30

k k

− −
= α +β = =

	 and product of zeroes 

	
45k

45
k

= αβ = =

	 Since  a + b = ab

	 30 2
45 k

k 3
⇒ = ⇒ = � [1 Mark]

16.	 (b)	 Since RJ is a tangent to the circle
	 \	 ∠RJO = 90° ⇒ ∠RJL + ∠LJO = 90° 
	 42° + ∠LJO = 90° ⇒ ∠LJO = 48°
	 ⇒	 ∠JLO = ∠LJO = 48° [Q OJ = OL]
	 In DOLJ, ∠JLO + ∠LJO + ∠LOJ = 180°
	 ⇒	 48° + 48° + ∠LOJ = 180°
	 ⇒	 ∠LOJ = 84°� [1 Mark]

17.	 (c)	 Q  DE||BC 
	 Hence by B.P.T. we have,

	

AD AE 2.4 2

DB EC 4 EC
∴ = ⇒ =

	

10
EC

3
⇒ =

	 Now, AC = AE + EC = 
10 16

2 cm
3 3

+ = � [1 Mark]

18.	 (d)	 Let AB be the pole and BC is it shadow.	
	 AB = 7.5 and BC = 5

7.5

A

B C
5

�

	 Let ∠ACB = q

	

7.5 3
tan

5 2
∴ θ = =

	 Now, Let PQ be the tower and QR be its shadow.
	 Since, we are measuring the shadow at the same time. So, 

∠ACB = ∠PRQ
	 ∠PRQ = q

P

R

�
Q

	 Now, 
PQ

tan
QR

θ =

	
3 PQ

PQ 36cm
2 24

⇒ = ⇒ =
� [1 Mark]

Note

At same times Sun's altitude will be same.

19.	 (a)	 A B

CD

E F

O

	 Q AB|| CD and AB||EF ⇒ CD||EF
	 Draw a line which connects A to C.

	 In DADC, 
AE OA

ED OC
= 		  ...(i)

	 In DABC, 
BF OA

FC OC
= 		  ...(iii)

	 From (i) & (ii),

	 AE BF

ED FC
= � [1 Mark]

20.	 (b)	 Degree of a zero polynomial is not defined as it is of 
the form 0.xn + 0.xn–1 + ...+ 0.x + 0 where n can be any 
integer.

	 Degree of a non-zero constant polynomial is 0 as it can be 
written as

	 p(x) = k = kx°, k ∈ R – {0}� [1 Mark]

SECTION - B

21.	 (a)	 Given: ∠P = 60°
A

B

OP

	
P

APQ 30
2

∠
∠ = = °∵

	 r = OA = 3cm
	 Also, ∠PAO = 90°� [½ Mark]
	 In right angle triangle PAO,

	
OB

tan APO
AP

∠ =
� [½ Mark]

	
3

tan 30
AP

⇒ ° =
1 3

AP 3 3 cm.
AP3

⇒ = ⇒ =

	 Q PB = PA = 3 3 cm

	 So, AP = PB = 3 3 cm � [1 Mark]
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(OR)
	 (b)	 Given O be the centre of the of circle and PQ be the 

diameter. AB and CQ are tangents of circle at point P and 
Q respectively.

A

B

C

D

P
O

Q

	 Claim: AB||CD.� [1 Mark]
	 Proof: Q AB is tangent at P. ⇒ AB ^ PQ.
	 and CD is tangent at Q ⇒ CD ^ PQ
	 Now, AB and CD are perpendicular to PQ.
	 \ 	 AB||CD.� [1 Mark]

22.	
2

2 tan 30 .sec60 .tan 45

1 sin 60

° ° °

−

	

2

1 4 4
2 2 1

163 3 3
3 1 33 1

1 4 4
2

× × ×
= = = =

  −−   
 

	 16 3
.

3
= � [2 Marks]

23.	 Given: p(x) = 5x2 – 6x + 1

	 Sum of zeroes = a + b = 
6

5

	 Product of zeroes = ab = 1

5
� [1 Mark]

	 Now, a + b + ab +
6 1 7

5 5 5
= + = � [1 Mark]

24.	 (a)	 Let (1 : m) is the required ratio.

	

( ) ( ) ( )
6 m 3 1 10m 8 1

, 4,6
m 1 m 1

− + × + − × 
∴ = − 

+ + 

	
( )6m 3 10m 8

, 4,6
m 1 m 1

− + − ⇒ = − + + 

	 Compare both sides, we get� [1 Mark]

	
6m 3

4
m 1

− +
= −

+

	 ⇒	 –6m + 3 = –4m – 4

	
7

m
2

⇒ =

	
10m 8

and 6
m 1

−
=

+

	 ⇒	 10m – 8 = 6m + 6	
7

m
2

⇒ =

	 \ The ratio is (1 : m) 

	 ( )7
1: 2 : 7

2
 = = 
 

� [1 Mark]
OR

	 (b)	 Let A ≡ (3, 0), B ≡ (6, 4) and C ≡ (–1, 3).

	 ( ) ( )2 2AB 6 3 4 0 9 16 5= − + − = + =
 

	 ( ) ( )2 2BC 6 1 4 3 49 1 50= + + − = + = � [1 Mark]

	 ( ) ( )2 2CA 3 1 0 3 16 9 5= + + − = + =

	 Since, only two sides of the triangle have the same length.
	 \ The given vertices forms a isosceles triangle. [1 Mark]
25.	 n(S) = 60
	 Q Anmol accepts good shirts and shirts with minor 

defects.
	 \ n(E) = 48 + 4 = 52� [1 Mark]
	 Now, the required probability

	 ( )
( )

n E 52 13
P

n S 60 15
= = =  � [1 Mark]

SECTION - C

26.	 (a)	 Suppose, if possible, 3  is a rational number. Then, 

there exist integers a and b such that 
a

3,
b
=  where a 

and b co-primes.
	 ⇒	 a2 = 3b2	 ...(i)� [1 Mark]
	 ⇒	 3 divides a2

	 ⇒	 3 divides a,	 (3 is a prime number)
	 ⇒	 a = 3p for some integer p
	 from (i), (3p)2 = 3b2

	 ⇒	 3p2 = b2� [1 Mark]
	 ⇒	 3 divides b2 ⇒ 3 divides b.
	 Q	 3 divides a and b both.
	 Which is a contradiction because a and b are co-primes
	 So, our supposition was not correct.
	 3⇒  is an irrational number.� [1 Mark]

OR

	 (b)	 ( ) ( ) ( ) ( )( )2 2 2
2 3 2 3 2 2 3+ = + +

[1 Mark]

		  2 3 2 6= + +

		  5 2 6= + � [1 Mark]

		  6∵  is an irrational number.
	 5 2 6⇒ +  is an irrational number.

	 ( )22 3⇒ + is an irrational number.� [1 Mark]

Note

Product of rational and irrational number is irrational.
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27.	 (a)	 a = 10

	 S14 = 1050 [ ]14
2a 13d 1050

2
⇒ + = � [1 Mark]

	 ⇒	 20 + 13d = 150 ⇒ 13d = 130
	 ⇒	 d = 10� [1 Mark]
	 T20 = a  + 19d = 10 + 19 × 10 = 200
	 Tn = a + (n – 1)d = 10 + (n – 1) 10 = 10n.� [1 Mark]

OR
	 (b)	 a = 5, l = 45

	 [ ]n
n

S 400 a 400
2

l= ⇒ + =

	 [ ]n 5 45 800 n 16⇒ + = ⇒ = � [1½ Marks]

	 Since, l = 45 ⇒ a + (n – 1)d = 45
	 ⇒	 5 + (16 – 1) d = 45

	 8
15d 40 d

3
⇒ = ⇒ = � [1½ Marks]

28.	 Let ABCD be the parallelogram circumscribing the circle.
	 ⇒	 AD||BC and AD = BC	 ...(1)
	 and AB||CD and AB = CD	 ...(2)

A
H

D

E G

B
F C

[1 Mark]
	 Q AH and AE are tangent from A to the circle.
	 ⇒ 	 AE = AH� ...(3)
	 Since, BE and BF are tangent from B to the circle 
	 ⇒ 	 BE = BF� ...(4)
	 Also, CF and CG are tangent from C to circle 
	 ⇒	 CG = CF� ...(5)
	 Also, DG and DH are tangent from D to circle 
	 ⇒ 	 DG = DH� ...(6)
	 Adding (3), (4), (5) and (6);� [1 Mark]
	 AE + BE + CG + DG = AH + BF + CF + DH.	
	 ⇒ 	 AB + CD = (AH + DH) + (BF + CF)
	 ⇒ 	 AB + AB = AD + BC
	 ⇒ 	 2AB = AD + AD	 {AD = BC}
	 ⇒ 	 2AB = 2AD ⇒ AB = AD		 ...(7)
	 from equation (1), (2) and (7), we get:
	 AB = BC = AD = BC
	 ⇒ 	 ABCD is a rhombus� [1 Mark]

29.	 L.H.S. = tan A cot A

1 cot A 1 tan A
+

− −

	

sin A cos A
cos A sin A

cos A sin A
1 1

sin A cos A

= +
− −

	
( ) ( )

2 2sin A cos A

cos A sinA cos A sin A cosA sin A
= +

− −
� [1 Mark]

	
( )

3 3sin A cos A

sin A cos A sin A cos A

−
=

−
� [1 Mark]

	

( )( )
( )

2 2sin A cos A sin A cos A cos Asin A

sin A cos A sin A cosA

− + +
=

−

	

1 cos Asin A
1 cosec Asec A

sin A cos A

+
= = +

	 =	 R.H.S.� [1 Mark]
30.	 S = {HHH, HHT, HTH, HTT, THH, THT, TTH, TTT}
	 (i)	 E1 = {HHH, HHT, HTH, HTT; THH, THT, TTH}.

	 ( ) ( )
( )

1
1

n E 7
P E

n S 8
= = � [1 Mark]

	 (ii)	 E2 = {THH, HTH, HHT}

	 ( ) ( )
( )

2
2

n E 3
P E

n S 8
= = � [1 Mark]

	 (iii)	E3 = {HHT; HTH, THH}

	 ( ) ( )
( )

3
3

n E 3
P E

n S 8
= = � [1 Mark]

31.	 r = 10 cm

O

90°

[1 Mark]

	 The required area = 
23

r
4
×π � [½ Mark]

	

3 100
75

4

× π ×
= = π

	 = 75 × 3.14
	 = 235.5 cm2� [1½ Marks]

Note

Area of quadrant 21
r

4
= π
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SECTION - D
32.	 (a)	 Given:
	 (k + 1)x2 – 6(k + 1) x + 3 (k + 9) = 0, k ≠–1� ...(1)
	 Equation (1) has real and equal roots, so  D = 0
	 ⇒	 36(k + 1)2 – 12(k + 9) (k + 1) = 0� [2 Marks]
	 ⇒	 12 (k + 1) [3k + 3 – k – 9] = 0
	 ⇒	 (k + 1) (2k – 6) = 0� [1 Mark]
	 ⇒	 k = –1, 3.
	 	 k ≠ –1
	 ∴	 k = 3� [2 Marks]

OR
	 (b)	 Let the age of the son is x years.
	 \ The age of the man = 2x2

	 Now, after 8 years.
	 Son's age = (x + 8)� [1 Mark]
	 \ Man's age = 2x2 + 8
	 ⇒	 3(x + 8) + 4 = 2x2 + 8	 (According to Question)
	 ⇒	 2x2 – 3x – 20 = 0� [2 Marks]
	 ⇒	 2x2 – 8x + 5x – 20 = 0
	 ⇒	 (x – 4) (2x + 5)  = 0� [1 Mark]

	 ⇒	 x = 4, 5

2
−

	 Age can't be negative.
	 So, x = 4
	 Now, age of the man = 2(4)2 = 32 years� [1 Mark]
33.	

A

B

C D

30° 60°

4m

	 Let AB be the height of the bridge and C and D are the 
two opposite sides of the river.� [1 Mark]

	 AB = 4m.

	 In DABD; AB 4 4
tan 60 3 AD m

AD AD 3
° = ⇒ = ⇒ =

[1 Mark]

	 In DABC;
AB 1 4

tan 30 CA 4 3m.
CA CA3

° = ⇒ = ⇒ =
[1 Mark]

	 \ Width of river = CA + AD = 4 16 16 3
4 3 cm

33 3
+ = =

[2 Marks]
34.	 (a)	 Q ∠1 = ∠2
	 ⇒	 AE = AD	 ...(1)
	 Also, DFEC @ DGDB� [1 Mark]

	 ⇒	 CE = BD	 ...(2)	 (By CPCT)
	 Equation (2)/(1):� [1 Mark]
	 CE BD

AE AD
= � [1 Mark]

	 By the converse of the basic proportionality theorem, we 
have

	 ⇒	 BC||DE� [1 Mark]
	 ⇒	 ∠1 = ∠3 & ∠2 = ∠4	 (corresponding angle)
	 and ∠A = ∠A		  (common angle)
	 \	 DADE ~ DABC� [1 Mark]

OR
	 (b)	 Given: In DABC and DPQR, AD is the median of 

DABC and PM is median of DPQR.
	 Also,

	

AB AC AD

PQ PR PM
= =

	 ...(1)
A

B C
D

E    

P

Q R
M

L

	 Let us extend AD and PM to point E & L respectively 
such that � [½ Mark]

	 AD =DE & PM = ML	 ...(2)
	 Now, join B and C to E and Q and R to L.
	 Also, BD = DC and AD = DE� [½ Mark]

	 Q In ABEC, diagonals AE and BC bisect each other at D
	 ∴ABEC is a parallelogram.
	 ⇒	 AC = BE and AB = CE	 ...(3)
	 Similarly, we can prove that PQLR is a parallelogram
	 PQ = QL and PQ = LR		 ...(4)
	 From equation  (1), (3) & (4), we get:

	 AB BE AD

PQ QL PM
= = � [1 Mark]

	

AB BE 2AD

PQ QL 2PM
⇒ = =

	

AB BE AE

PQ QL PL
⇒ = =

	 \ DABE ~ DPQL	 (By SSS similarity criterion)
	 ⇒	 ∠BAE = ∠QPL		  ...(5)� [1 Mark]
	 Similarly, we can prove that DAEC ~ DPLR
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	 ⇒	 ∠CAE = ∠RPL		  ...(6)
	 From equation (5) & (6):
	 ∠BAE + ∠CAE = ∠QPL + ∠RPL	
	 ⇒	 ∠CAB = ∠RPQ		  ...(7)� [1 Mark]
	 In DABC & DPQR

	 AB AC

PQ PR
⇒ = 	 (From (1))

	 & ∠CAB = ∠RPQ	 (from (7))
	 By SAS similarity criterion,	
	 DABC ~ DPQR� [1 Mark]
35.	 r = 2.1 cm, h = 5.8 cm

	 Total surface area = surface area of cylinder + 2 × surface 
area of Hemisphere.

	 = 2prh + 2(2pr2)� [2 Marks]
	 = 2p (2.1) × 5.8 + 2 × 2 p(2.1)2� [1 Mark]

	 = 42p = 42 × 22

7
 = 132 cm2.� [2 Marks]

Note

T.S.A. = C.S.A. + Area of bases

SECTION - E

36.	 (i)	 150x + 250y = 55000	 ...(1)� [1 Mark]
	 x + y = 300		  ...(2)
	 (ii)	 Now, Equation (1) –150 Equations (2), we get
	 250y – 150y = 55000 – 45000� [1 Mark]
	 ⇒	 100y = 10000 ⇒ y = 100
	 From Equation (2): x + 100 = 300
	 ⇒ 	 x + 100 = 300 ⇒ x = 200�
	 (a)	 200 childrens has visited the amusement park.
� [2 Marks]

OR
	 (b)	 100 adults visited the amusement part.� [2 Marks]
(iii)	 Amount collected = 250 × 150 + 100 × 250
	 = 	 37500 + 25000 = 62500
	 \ Rs 62500 will be collected� [1 Mark]
37.	 (i)	 Co-ordinate of the vertices are,
	 P(4, 6), Q(3, 2) and R(6, 5).� [1 Mark]

	 (ii)	 (a) ( ) ( )2 2PQ 4 3 6 2 1 16 17m= − + − = + =

	 ( ) ( )2 2QR 6 3 5 2 9 9 18 3 2m= − + − = + = =

[2 Marks]

	 OR 
	 (b)	 Let S be the required point.

	 4 1 6 2 6 1 5 2 16 16
S , ,

2 1 2 1 3 3

× + × × + ×   = =   + +   
� [2 Marks]

(iii)	 PQ 17m=∵ , QR = 3 2 m

	 and ( ) ( )2 2PR 6 4 5 6 4 1 5 m= − + − = + =

	 Since, PQ ≠ QR ≠ PR� [1 Mark]
	 \ DPQR is not an isosceles triangle

Note

If any two sides of a triangle are equal then triangle is 
isosceles triangle. So equalateral triangle is also called 
iscosecles.

38.	
Time (in 
seconds)

No. of 
Students 
(f)

Cummulative 
frequency (cf)

xi xifi

0-20 8 8 10 80
20-40 10 18 30 300
40-60 13 31 50 650
60-80 6 37 70 420
80-100 3 40 90 270
Total 40 1720

	 n = ∑fi = 40
n

20
2

⇒ =  

	 (i)	 Since 40-60 is the class whose cumulative frequency 

31 is greater than (and nearest to) n
20

2
= � [1 Mark]

	 So, Median class is 40-60.

	 (ii)	 (a) i i

i

f x
x

f
= ∑
∑

1720
43

40
= = � [2 Marks]

OR
	 (b)	 Since, the maximum number of students are in the 

internal 40-60 So, Model class is 40-60.
	 l = 40, h = 20
	 f1 = 13
	 f0 = 10
	 f2 = 6
	 Mode 

	

i 0

1 0 2

f f 13 10
h 40 20

2f f f 2 13 10 6
l

 − − = + × = + ×    − − × − − 

	 3
40 20 46

10
= + × = � [2 Marks]

	 (iii) Number of students taking time less than 60 second 
	 = 8 + 10 + 13 = 31� [1 Mark]
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SECTION - A
(Multiple Choice Question)� (20 × 1 = 20)
1.	 In which one of the following states is 'bamboo drip 

irrigation system' prevalent?� 1
	 (a)	 Tamil Nadu	 (b)	 West Bengal
	 (c)	 Meghalaya	 (d)	 Odisha
2.	 Match Column I with Column II and choose the correct 

option.� 1
		 	 Column-I		  Column-II
			  (National Park)		  (State)
	 i.	 Kaziranga	 a.	 Madhya Pradesh
	 ii.	 Jim Corbett	 b.	 Assam
	 iii.	 Sunderbans	 c.	 Uttarakhand
	 iv.	 Bandhavgarh	 d.	 West Bengal
	 (a)	 i-a, ii-b, iii-c, iv-d	
	 (b)	 i-d, ii-c, iii-b, iv-a
	 (c)	 i-c, ii-b, iii-d, iv-a
	 (d)	 i-b, ii-c, iii-d, iv-a
3.	 Choose the correct option to fill in the blank.� 1
	 In the begining of the 19th century, _______ a girl married 

in a very orthodox household wrote an autobiography 
called ‘Amar Jiban’.	

	 (a)	 Pandita Ramabai
	 (b)	 Rashsundari Devi

	 (c)	 Tarabai Shinde
	 (d)	 Kailashbashini Debi
4.	 Arrange the following events in chronological order and 

choose the correct option.	�  1
	 I.	 Formation of Khilafat Committee in Bombay
	 II.	 Jallianwala Bagh Massacre
	 III.	 Bardoli Satyagraha
	 IV.	 Withdrawal of Non-Cooperation Movement
	 (a)	 I, II, III, IV	 (b)	 II, I, IV, III
	 (c)	 I, II, IV, III	 (d)	 III, IV, II, I
5.	 Which one of the following religions emerged from 

eastern  India and spread in several directions through 
intersecting points on the 'silk routes'?� 1

	 (a)	 Hinduism	 (b)	 Christianity
	 (c)	 Buddhism	 (d)	 Jainism
6.	 Who among the following hosted the 'Vienna Congress' 

in 1815?� 1
	 (a)	 Chancellor Duke Metternich
	 (b)	 Ernst Renan
	 (c)	 William I
	 (d)	 Otto von Bismarck
7.	 Select the formal sources of credit from the given sources 

and choose the correct option.� 1
	 I.	 Bank	 II.	 Moneylender
	 III.	 Cooperatives	 IV.	 Businessman

All India 2024

CBSE Board Solved Paper

Time Allowed : 3 Hours� Maximum Marks : 80

General Instructions:
Read the following instructions very carefully and strictly follow them:
	 1.	 This question paper contains 37 questions. All questions are compulsory.
	 2.	 Question paper is divided into six sections - Section A, B, C, D, E and F.
	 3.	 Section A - Questions number 1 to 20 are Multiple Choice type questions. Each question carries 1 mark.
	 4.	 Section B - Questions number 21 to 24 are Very Short Answer type questions. Each question carries 2 marks. Answer 

to these questions should not exceed 40 words.
	 5.	 Section C - Questions number 25 to 29 are Short Answer type questions. Each question carries 3 marks. Answer to 

these questions should not exceed 60 words.
	 6.	 Section D - Questions number 30 to 33 are Long Answer (LA) type questions. Each question carries 5 marks. Answer 

to these questions should not exceed 120 words.
	 7.	 Section E - Questions number 34 to 36 are Case-based/Source-based questions with three sub-questions. Each question 

carries 4 marks.
	 8.	 Section F - Questions number 37 is Map skill-based question with two parts - 37(a) History (2 marks) and 37(b) from 

Geography (3 marks). This question carries total 5 marks.
	 9.	 In addition to this, NOTE that a separate question has been provided for Visually Impaired candidates in lieu of questions 

having visual inputs, map etc. Such questions are to be attempted by Visually Impaired candidates only. 
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	 (a)	 Only I and II	 (b)	 Only II and III
	 (c)	 Only I and III	 (d)	 Only I and IV
8.	 Which one of the following sectors has the highest share 

in employment in India?	�  1
	 (a)	 Primary	 (b)	 Secondary
	 (c)	 Tertiary	 (d)	 Quaternary
9.	 Which one of the following is included in 'liberalization'?
	 (a)	 Promoting trade barriers� 1
	 (b)	 Removing trade barriers
	 (c)	 Controlling the other country through trade
	 (d)	 Increasing import, export duty on goods
10.	 Two statements are given below. They are Assertion (A) 

and Reason (R). Read both the statements and choose the 
correct option.� 1

	 Assertion (A) : Rural poor families are still dependent on 
informal sources of credit.

	 Reason (R) : For obtaining loan from banks, collateral 
and special documents required.

	 (a)	 Both (A) and (R) are true and (R) is the correct 
explanation of (A).

	 (b)	 Both (A) and (R) are true, but (R) is not the correct 
explanation of (A).

	 (c)	 (A) is true, but (R) is false.
	 (d)	 (A) is false, but (R) is true.
11.	 In one of the small villages, a farmer borrows money 

from the village moneylender at a high monthly interest 
rate but is not able to repay it back. Next, he borrows it 
from a bank at a lower interest rate. Gradually he earns 
and pays back the loan to the moneylender and the bank.

	 Which of the following best describes the role of the bank 
in this credit situation?	�  1

	 (a)	 The bank acts as a cooperative lender.
	 (b)	 The bank facilitates a debt-trap situation.
	 (c)	 The bank ensures a fair exchange of goods.
	 (d)	 The bank saves the farmer from debt-trap.
12.	 Two statements, I and II are given below. Read both the 

statements and choose the correct option.� 1
	 Statement I: Women are now actively contributing to 

various professions including roles as doctors, engineers, 
lawyers, managers and university teachers.

	 Statement II: Political expression of gender division and 
political mobilization helped to improve women's role in 
public life.

	 (a)	 Statement I is true, but II is false.
	 (b)	 Statement I is false, but II is true.
	 (c)	 Statements I and II are true and II is the correct 

explanation of I.
	 (d)	 Statements I and II are true, but II is not the correct 

explanation of I.
13.	 Which one of the following is a scheduled language as 

per the Constitution of India?� 1

	 (a)	 Bhojpuri	 (b)	 Garhwali
	 (c)	 Nepali	 (d)	 Rajasthani
14.	 Two statements are given below. They are Assertion (A) 

and Reason (R).	�  1
	 Assertion (A) : Multi-party system has been adopted in 

India.
	 Reason (R) : It is capable of accommodating all the 

social and geographical differences in India.
	 (a)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
	 (b)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
	 (c)	 (A) is true, but (R) is false.
	 (d)	 (A) is false, but (R) is true.
15.	 Which one of the following steps has been taken by 

the Election Commission of India to reform political 
parties?	�  1

	 (a)	 Amended the Constitution to Prevend defection
	 (b)	 Candidates will have to give the details of criminal 

cases on affidavit.
	 (c)	 Candidates will have to give details of their property 

on affidavit.
	 (d)	 It has been made mandatory for all parties to conduct 

organizational elections and file income tax returns.
16.	 Look at the given picture. The work being done in the 

picture comes under which one of the following economic 
sectors?� 1

	 (a)	 Primary	 (b)	 Secondary
	 (c)	 Tertiary	 (d)	 Quaternary
	 Note: The following question is for the Visually 

Impaired Candidates only, in lieu of Q. No. 16.
	 'Floriculture' comes under which one of the following 

sectors of the economy?	�  1
	 (a)	 Primary	 (b)	 Secondary
	 (c)	 Tertiary	 (d)	 Quaternary
17.	 Read the following provisions regarding Secularism in 

the Indian Constitution and choose the correct option.� 1
	 I.	 The Indian State has not adopted any religion as its 

official religion.
	 II.	 The Constitution gives freedom to all the citizens to 

practice and propagate any religion.
	 III.	 The Constitution declares any kind of discrimination 

done on the basis of religion to be legal.
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	 IV.	 It gives the government the right to intervene in 
religious matters for ensuring equality within 
religious communities.

	 (a)	 Only I, II and III are correct.
	 (b)	 Only I, II and IV are correct.
	 (c)	 Only I, III and IV are correct.
	 (d)	 Only II, III and IV are correct. 
18.	 Choose the most appropriate option regarding the division 

of legislative rights in India.�  1
			  Subject list in		  Subjects
			  Indian Constitution	
	 (a)	 Union List	 –	 Defence and Commerce
	 (b)	 State List	 –	 Police and Agriculture
	 (c)	 Concurrent List	 –	 Forest and Communication
	 (d)	 Residuary Subjects –	 Computer Software and 		

			   Trade
19.	 Two statements, I and II are given below. Read both the 

statements and choose the correct option.� 1
	 Statement I: Division of power is good for democratic 

systems.
	 Statement II: It helps to reduce the possibility of conflict 

between social groups.
	 (a)	 Statement I is true, but II is false.
	 (b)	 Statement I is false, but II is true.
	 (c)	 Statements I and II are true and II is the correct 

explanation of I.
	 (d)	 Statements I and II are true, but II is not the correct 

explanation of I.
20.	 Which one of the following is the highest 'bauxite' 

producing state of India?� 1
	 (a)	 Maharashtra	 (b)	 Jharkhand
	 (c)	 Gujarat	 (d)	 Odisha

SECTION - B
(Very Short Answer Type Questions)� (4×2=8)
21.	 Why did people flee Europe for America in the nineteenth 

century?� 2
22.	 How have the developments in information and 

communication technology been the major factor to 
enable globalisation? Explain.� 2 

23.	 Mention the formation of Zilla Parishad.� 2
24.	 (a)	 "Minerals occur in igneous and metamorphic rocks." 

Explain the statement with example.� 2
OR

	 (b)	 "The ocean waters contain vast quantities of 
minerals." Explain the statement with example.

SECTION - C
(Short Answer Type Questions)� (5×3=15)
25.	 Describe any three characteristics of the Indian federal 

system.� 3
26.	 Describe any three features of Rabi crop season.� 3

27.	 Analyse the role of political parties in shaping the 
outcomes of democracy.� 3

28.	 (a)	 Explain the role of women in the Civil Disobedience 
Movement, with examples.� 3

OR
	 (b)	 How did the Indian folklore and symbols strengthen 

the idea of nationalism during the twentieth century? 
Explain with examples.� 3

29.	 Analyse the development of Punjab, Kerala and Bihar 
states on the basis of literacy.� 3

SECTION - D
(Long Answer Type Questions)� (4×5=20)
30.	 (a)	 "The first clear expression of nationalism came 

with the French Revolution in 1789." Evaluate the 
statement.� 5

OR
	 (b)	 "Following the defeat of Napoleon in 1815, 

European governments were driven by a spirit of 
conservatism." Evaluate the statement.� 5

31.	 (a)	 Explain with examples the role of democracy in the 
reduction of inequality and poverty.� 5

OR
	 (b)	 How is democracy a legitimate government? Explain 

with examples.� 5
32.	 (a)	 "Manufacturing sector is considered the backbone of 

development of the country.” Justify the statement.�5
OR

	 (b)	 "Agriculture and Industry move hand in hand," 
Justify the statement.� 5

33.	 (a)	 Examine the significance of the tertiary sector in the 
Indian economy.� 5

OR
	 (b)	 Explain the contribution of the primary sector in the 

context of employment in India.� 5

SECTION - E
(Case-based/Source-based Questions)� (3×4=12)
34.	 Read the given source and answer the questions that follow :

Loan from Cooperatives
	 Besides banks, the other major source of cheap credit in 

rural areas are the cooperative societies (or cooperatives). 
Members of a cooperative pool their resources for 
cooperation in certain areas. There are several types 
of cooperatives possible such as farmers cooperatives, 
weavers cooperatives, industrial workers cooperatives, 
etc. Krishak Cooperative functions in a village not very 
far away from Sonpur. It has 2300 farmers as members. 
It accepts deposits from its members. With these deposits 
as collateral, the Cooperative has obtained a large loan 
from the bank. These funds are used to provide loans to 
members. Once these loans are repaid, another round of 
lending can take place.
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	 Krishak Cooperative provides loans for the purchase 
of agricultural implements, loans for cultivation and 
agricultural trade, fishery loans, loans for construction of 
houses and for a variety of other expenses.

34.1	 How do 'Krishak Cooperatives' secure funds for providing 
loans to their members?� 1

34.2	 What are the different types of loans that 'Krishak 
Cooperatives' offer to their members?� 1

34.3	 Why are such cooperatives desirable in the rural areas?�2
35.	 Read the given source and answer the questions that 

follow :
Print Comes to India

	 From 1780, James Augustus Hickey began to edit the 
Bengal Gazette, a weekly magazine that described itself 
as 'a commercial paper open to all, but influenced by 
none'. So it was private English enterprise, proud of 
its independence from colonial influence, that began 
English printing in India. Hickey published a lot of 
advertisements, including those that related to the import 
and sale of slaves. But he also published a lot of gossip 
about the Company's senior officials in India. Enraged 
by this, Governor-General Warren Hastings persecuted 
Hickey, and encouraged the publication of officially 
sanctioned newspapers that could counter the flow of 
information that damaged the image of the colonial 
government. By the close of the eighteenth century, a 
number of newspapers and journals appeared in print. 
There were Indians, too, who began to publish Indian 
newspapers. The first to appear was the weekly Bengal 
Gazette, brought out by Gangadhar Bhattacharya, who 
was close to Raja Rammohan Roy. 

35.1	 In which language was 'Bengal Gazette' edited by James 
Augustus Hickey published?� 1

35.2	 Why was James Augustus Hickey persecuted? � 1
35.3	 Which newspapers were encouraged during the 1780s? 

Why were they encouraged?� 1 + 1 = 2
36.	 Read the given source and answer the questions that 

follows :
Conservation of Resources

	 At the international level, the Club of Rome advocated 
resource conservation for the first time in a more 
systematic way in 1968. Subsequently in 1974. Gandhian 

philosophy was once again presented by Schumacher 
in his book Small is Beautiful. The seminal contribution 
with respect to resource conservation at the global 
level was made by the Brundtland Commission Report, 
1987. This report introduced the concept of 'Sustainable 
Development' and advocated it as a means for resource 
conservation, which was subsequently published in a 
book entitled Our Common Future. Another significant 
contribution was made at the Earth Summit at Rio de 
Janeiro, Brazil in  1992. 

36.1	 Explain the meaning of sustainable development.� 1
36.2	 In which international conference was 'Agenda-21' 

accepted?� 1
36.3	 Explain any two outcomes of the Summit.� 2 × 1 = 2

SECTION - F
(Map Skill Based Question)� (2+3=5)
37.	 (a)	 Two places ‘A’ and ‘B’ have been marked on the 

given political outline map of India (on page 27). Identify 
them with the help of the following information and write 
their correct names on the lines drawn near them :

	 A.	 The place where the session of Indian National 
Congress was held in 1920.� 1

	 B.	 The place where Gandhiji broke the salt law.        � 1
	 (b)	 On the same political outline map of India, locate and 

label any three of the following with suitable symbols :
(3×1=3)

(i)	 Bailadila - Iron ore Mines
(ii)	 Namrup - Thermal Power Plant
(iii)	 Kandla - Major Sea Port
(iv)	 Meenam Bakkam - International Airport
	 Note: The following questions are for the Visually 

Impaired Candidates only, in lieu of Q. No.37
	 Attempt any five questions : � (5×1=5)
37.1	 Name the state where the session of Indian National 

Congress was held in 1927.
37.2	 Name the place where Gandhiji broke the salt law.
37.3	 Name the state where Bailadila iron ore mines are located.
37.4	 In which state is Namrup Thermal Power Plant located?
37.5	 Name the state where Kandla sea port is located.
37.6	 Name the state where Meenam Bakkam international 

airport is located.	 	
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SECTION - A

(Multiple Choice Questions)
1.	 (c)	 The bamboo drip irrigation system is particularly 

prevalent in states like Meghalaya. It’s a technique 
commonly used in hilly regions where conventional 
irrigation methods might not be feasible. 

2.	 (d)	 Kaziranga National Park lies partly in Golaghat 
District and partly in Nagaon District of Assam.
Sundarbans is a mangrove area in the delta formed 
by the confluence of the Ganges, Brahmaputra and 
Meghna Rivers in the Bay of Bengal.
Bandhavgarh National Park is spread over the 
Vindhya Hills in Madhya Pradesh.
Jim Corbett National Park is a national park in India 
located in the Nainital district of Uttarakhand state.

3.	 (b)	 Rashsundari Devi was apparently the first Indian 
woman to study history. She was a writer by 
occupation and is the most well known for her 
autobiography called Amar Jiban, which was 
published in 1876. She was among the first few 
Bengali writers who had written autobiographies.

4.	 (c)	 (i) 	 The Khilafat Committee was formed in Bombay 
in March 1919.

		  (ii) 	 Jallianwala Bagh Massacre, incident on April 13, 
1919.

		  (iii) 	Bardoli Satyagraha began on 12 June 1928. It 
was eventually led by Sardar Vallabhbhai Patel.

		  (iv) 	Gandhiji called off the movement in February 
1922 in the wake of the Chauri Chaura incident.

5.	 (c)	 The religion that emerged from eastern India and 
spread through intersecting points on the Silk Routes 
is Buddhism. Originating in the region of present-
day Nepal and northeastern India (particularly Bihar 
and Uttar Pradesh), Buddhism gradually spread 
across Asia, facilitated by trade routes like the Silk 
Road.

6.	 (a)	 Congress at Vienna was hosted by Austrian 
chancellor Duke Metternich in 1815. Its first goal 
was to establish a new balance of power in Europe.

7.	 (c)	 Formal sector credit is those that are supervised 
by the government and the Reserve Bank of India 
(RBI). 

Note

Banks come under the formal sector. Even cooperatives are 
registered with the government and fall under the formal 
sector. The RBI, directly or indirectly, supervises the 
functioning of the formal sources of loans.

8.	 (a)	 Agriculture and allied activities provide the highest 
employment in the Indian economy. In India, 
Agriculture employs 50%-60% of the population. 
Agriculture is included in the primary sector.

9.	 (b)	 Liberalization entails reducing government 
restrictions on economic activities, fostering 
free market principles. Key features include 
deregulation, allowing private sector participation, 
trade liberalization through lowered tariffs, and 
financial sector reforms like privatization of state-
owned enterprises and opening up capital markets 
to foreign investment. This often leads to increased 
competition and economic growth.

10.	 (a)	 Rural families in India often rely on the informal 
sector for loans due to limited access to formal 
banking services, bureaucratic hurdles, and lack 
of collateral. Informal lenders offer quicker and 
easier access to credit, albeit at higher interest rates, 
making them a preferred option for many rural 
households.

11.	 (d)	 The role of the bank in this credit situation would be 
best described as (d) the bank saves the farmer from 
a debt trap. By offering the farmer a loan at a lower 
interest rate, the bank provides the farmer with an 
opportunity to repay the high-interest loan from the 
moneylender and escape the cycle of high debt and 
interest payments.

12.	 (d)	 Both statements are true, but statement 2 does not 
directly explain statement 1. 

13.	 (c)	 The Eighth Schedule to the Constitution consists 
of the following 22 languages: Assamese, Bengali, 
Gujarati, Hindi, Kannada, Kashmiri, Konkani, 
Malayalam, Manipuri, Marathi, Nepali, Oriya, 
Punjabi, Sanskrit, Sindhi, Tamil, Telugu, Urdu, 
Bodo, Santhali, Maithili and Dogri.

14.	 (b)	 The assertion (A) is correct, as India indeed 
adopted a multi-party system. However, the reason 
(R) provided does not directly explain why India 
adopted a multi-party system. While India’s vastness 
and social/geographical diversity are factors that 
contribute to its multi-party system, there are 
additional reasons behind it.

15.	 (d)	 The Election Commission passed an order making 
it necessary for political parties to hold their 
organisational elections and file their income tax 
returns.

16.	 (c)	 The tertiary sector is also called as service sector. 
This sector also includes essential services that 
may not directly help in the production of goods. 
Examples: Education, Utilities, Transportation, 
Hospitality, etc. For example, we require teachers, 
doctors, tailors, some of which provide us with 
personal services.

Solutions
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17.	 (b)	 In India, the term ‘secularism’ was introduced 
in the year 1976 by the 42nd Amendment of 
the constitution. Secularism means separating 
government from religion which simply means that 
the government of India should not follow or favor 
any particular religion rather every religion should 
be favored equally.

18.	 (b)	 The 7th Schedule of the Indian Constitution has 
three lists namely, the Union list, state list, and 
concurrent list that show the division of power 
between the Union and States concerning certain 
subjects. The Union List has a total of 97 subjects, 
the State List has 66 subjects, and the Concurrent 
List has 47 Subjects.

19.	 (a)	 Both the assertion (A) and the reason (R) are accurate. 
Power sharing is indeed beneficial for democracy. 
When power is shared among different groups or 
institutions within a democratic system, it promotes 
inclusivity, representation, and accountability. One 
of the key benefits of power sharing is its capacity 
to mitigate conflicts between various social, ethnic, 
or religious groups.

20.	 (d)	 Odisha is India’s largest bauxite producer accounting 
for about 49% of the total production followed 
by Gujarat (24%), Jharkhand (9%), Chhattisgarh 
and Maharashtra (8% each). The remaining was 
produced by Madhya Pradesh, Goa, Karnataka and 
Tamil Nadu.

SECTION - B

[Very Short Answer Type Questions]
21.	 •	 Economic Opportunities: Many Europeans fled to 

America in the 19th century seeking better economic 
prospects. Industrialization and agricultural changes 
in Europe led to overcrowding in cities and 
displacement in rural areas. America promised vast 
expanses of land, particularly through initiatives 
like the Homestead Act of 1862, offering land to 
settlers willing to cultivate it. This attracted farmers, 
laborers, and entrepreneurs looking for opportunities 
to improve their economic circumstances.

	 •	 Religious and Political Freedom: Europe in the 
19th century was marked by social and political 
unrest, as well as religious persecution in some 
regions. America, on the other hand, offered greater 
religious and political freedom. Many immigrants 
sought refuge from religious discrimination or 
political persecution, finding in America a place 
where they could practice their faith freely and 
participate in democratic processes without fear of 
repression. This freedom attracted diverse groups, 
including Jews fleeing pogroms in Eastern Europe 
and political refugees from revolutions across the 
continent.

22.	 •	 Instant Communication: ICT has facilitated real-
time communication across borders through emails, 
video conferencing, instant messaging, and social 
media platforms. This instantaneous exchange of 
information has significantly reduced communication 
barriers, enabling businesses, governments, and 
individuals to collaborate seamlessly across the 
globe. As a result, decision-making processes have 
become more efficient, leading to faster transactions 
and increased productivity in various sectors.

	 •	 Access to Global Markets: The internet and 
digital technologies have provided unprecedented 
access to global markets for businesses of all 
sizes. E-commerce platforms, online marketplaces, 
and digital payment systems have eliminated 
geographical constraints, allowing businesses to 
reach customers worldwide. Moreover, ICT has 
democratised access to information, empowering 
individuals in remote locations to participate in the 
global economy by accessing educational resources, 
job opportunities, and market insights, thus fostering 
economic growth and development on a global 
scale.

23.	 •	 Constitutional Provision: Zila Parishads were 
formed in India as a part of the Panchayati Raj 
system, which was introduced through the 73rd 
Amendment Act of 1992. This amendment aimed 
to decentralize power by establishing elected local 
governments at the village, intermediate (block), 
and district levels, with Zila Parishads representing 
the district level.

	 •	 Role and Responsibilities: Zila Parishads serve as 
the apex bodies at the district level, responsible for 
coordinating the functioning of Panchayats within 
the district. They oversee various developmental 
activities including planning, implementation, and 
monitoring of programs related to agriculture, rural 
development, health, education, infrastructure, and 
welfare schemes within their jurisdiction.

24.	 (a)	 Minerals are naturally occurring inorganic 
substances with distinct chemical compositions and 
crystal structures. They are often found in igneous 
and metamorphic rocks, formed through different 
geological processes.
Igneous rocks, like granite and basalt, originate from 
the cooling and solidification of molten magma or 
lava. During this process, minerals such as quartz, 
feldspar, and mica crystallize from the cooling 
magma and become integral parts of the rock.
Metamorphic rocks, such as marble and slate, are 
formed through the alteration of existing rocks by 
heat, pressure, or chemically active fluids deep 
within the Earth’s crust. These conditions cause 
minerals within the original rock to recrystallize and 
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rearrange into new forms. For example, limestone 
can metamorphose into marble, with the mineral 
calcite transforming into larger, interlocking 
crystals.

OR
	 (b)	 The statement emphasizes the abundance of minerals 

dissolved in ocean water, vital for marine life and 
human use. For instance, sodium and chloride 
ions make seawater saline, crucial for maintaining 
marine ecosystems’ balance. Additionally, minerals 
like magnesium, calcium, and potassium contribute 
to ocean chemistry, influencing biological 
processes. These minerals are also extracted for 
various purposes, such as magnesium for alloy 
production and desalination processes. Overall, the 
ocean serves as a vast reservoir of essential minerals 
indispensable for both natural processes and human 
activities.

SECTION - C

[Short Answer Type Questions]
25.	 •	 Division of Powers : India divides powers between 

the central (union) government and the state 
governments. The Constitution of India clearly 
outlines the powers assigned to each level of 
government, with the Union List containing subjects 
exclusively under the jurisdiction of the central 
government, the State List containing subjects under 
the exclusive jurisdiction of the state governments, 
and the Concurrent List containing subjects on 
which both levels of government can legislate.

	 •	 Flexible Federalism: India’s federal system is 
often described as exhibiting “flexible federalism.” 
While the Constitution delineates the powers of 
the central and state governments, it also provides 
mechanisms for altering these powers when 
necessary. For example, during emergencies, the 
central government can assume greater authority, 
and the Constitution allows for the reorganisation of 
states or the alteration of their boundaries through 
legislative processes. This flexibility allows for 
adjustments to accommodate changing socio-
political dynamics and administrative needs.

	 •	 Strong Center: Despite being a federal system, 
India’s political structure often emphasizes a 
strong central government. The Constitution grants 
significant powers to the Union government, 
including matters of national importance such as 
defense, foreign affairs, and inter-state commerce. 
Additionally, the Union government has the 
authority to intervene in state affairs under certain 
circumstances, such as maintaining law and order, 

ensuring the implementation of central policies, or 
in cases of constitutional breakdown. This feature 
reflects a balance between decentralization and 
centralization, with the Union government playing 
a crucial role in preserving the unity and integrity of 
the nation.

26.	 •	 Timing: The Rabi crop season typically occurs 
during the winter months, starting from October 
and extending until March or April, depending on 
the region. It follows the monsoon season, which 
is crucial for replenishing soil moisture levels. The 
cooler temperatures during this period are favorable 
for the growth of certain crops.

	 •	 Crops: Rabi crops are mainly winter crops that are 
sown in the autumn and harvested in spring. Some 
common Rabi crops include wheat, barley, mustard, 
chickpeas, lentils, and peas. These crops are well-
suited to the cooler climate and can thrive even with 
less water, making them ideal for cultivation during 
the winter months.

	 •	 Water Availability: Unlike the Kharif season, 
which relies heavily on monsoon rains, Rabi crops 
are generally cultivated with irrigation water. 
Since the monsoon has already passed, farmers 
often depend on irrigation from canals, wells, or 
reservoirs to provide the necessary water for their 
crops. Proper water management is essential during 
this season to ensure optimal growth and yield of 
Rabi crops.

27.	 •	 Representation and Governance : Political parties 
serve as vehicles for representation in democracies, 
aggregating diverse interests and perspectives 
within society. They formulate policies, nominate 
candidates for elections, and seek to implement their 
agenda if elected.

	 •	 Political Competition and Accountability: 
This competition encourages parties to respond 
to citizens’ demands, address societal issues, and 
improve governance to attract voter support. In 
this way, political parties serve as mechanisms 
for holding elected officials accountable to the 
electorate.

	 •	 Formation and Maintenance of Democratic 
Institutions : Political parties play a crucial role in 
the establishment and maintenance of democratic 
institutions. They often operate within a framework 
of rules and norms that ensure fair competition, 
protect individual rights, and uphold the rule of 
law. Through participation in electoral processes, 
legislative debates, and policy making, parties 
contribute to the functioning and development 
of democratic institutions, such as legislatures, 
judiciaries, and electoral commissions.



8� SOCIAL SCIENCE-10

28.	 (a)	 •	 Leadership and Mobilization : Women played 
crucial roles in leading and mobilising communities 
during the Civil Disobedience Movement. For 
instance, Sarojini Naidu, known as the “Nightingale 
of India,” was a prominent figure in the Indian 
independence movement. She fearlessly led 
protests, organised meetings, and inspired masses 
with her speeches, galvanizing women to actively 
participate in civil disobedience against British rule.

	 •	 Active Participation : Women actively participated 
in acts of the civil disobedience, such as boycotting 
British goods, picketing, and joining protest marches. 
An example is the Salt Satyagraha of 1930, where 
women from all walks of life, including rural areas, 
joined Mahatma Gandhi in defying the British salt 
laws. They marched to the beaches, produced salt, 
and faced arrests, showcasing their commitment to 
the cause of independence.

	 •	 Symbolism and Sacrifice : Women’s involvement 
in civil disobedience movements often symbolized 
their commitment to freedom and sacrifice for 
the nation’s cause. One notable example is that 
of Kamaladevi Chattopadhyay, who not only 
participated in protests but also faced imprisonment 
for her activism. Her resilience and sacrifice 
inspired countless others to join the struggle for 
independence and highlighted the integral role of 
women in the movement’s success.

OR
	 (b)	 •	 Cultural Identity and Unity : Indian folklore, 

including myths, legends, and symbols, served as 
potent tools to foster a sense of cultural identity 
and unity among diverse communities across the 
country. For instance, the figure of Bharat Mata 
(Mother India) emerged as a powerful symbol of the 
nation during the Indian independence movement. 

	 •	 Resistance Against Colonialism : Indian folklore 
and symbols were often used to express resistance 
against colonial rule and imperialism. The use of 
traditional symbols and narratives in literature, art, 
and music became a form of cultural resistance 
against the cultural hegemony of the British. For 
example, the stories of valorous kings and warriors 
from Indian epics like the Ramayana and the 
Mahabharata were invoked to inspire Indians to 
fight against oppression and injustice. 

	 •	 Cultural Renaissance and Nationalism : Scholars 
and artists like Rabindranath Tagore, Bankim 
Chandra Chattopadhyay, and Mahatma Gandhi 
emphasised the importance of reconnecting with 
India’s rich cultural heritage to instill a sense of pride 
and self-respect among the masses. The promotion 
of folk dances, music, and traditional arts not only 

revitalized indigenous cultural expressions but also 
reinforced the idea of an independent Indian identity 
rooted in its ancient traditions.

29.	 The literacy rates in Punjab, Kerala, and Bihar showcase 
diverse trajectories reflecting the varying socio-
economic, cultural, and historical factors shaping each 
state.

	 Kerala stands out as a frontrunner in literacy with 
consistently high rates owing to its robust education 
system, proactive government policies, and strong social 
indicators. The state’s focus on education dates back to 
the early 20th century, resulting in widespread literacy 
campaigns and investments in primary education. 
Consequently.

	 Punjab, historically known for its agricultural prosperity, 
has also made strides in literacy, albeit at a slower pace 
compared to Kerala. With a relatively better infrastructure 
and economic stability, Punjab has invested in education, 
particularly in urban areas. However, challenges such as 
disparities in rural education and migration of laborers 
have hindered progress.

	 On the other hand, Bihar has struggled with low literacy 
rates due to persistent socio-economic challenges such 
as poverty, caste-based disparities, and inadequate 
infrastructure. Despite recent efforts to improve 
education access, Bihar continues to grapple with issues 
like teacher vacancies, inadequate school facilities, and 
low enrollment rates, particularly among marginalized 
communities.

Note

Kerala boasts one of the highest literacy rates in India, 
exceeding 95%, contributing significantly to its socio-
economic development.

SECTION - D

[Long Answer Type Questions]
30.	 (a)	 The French Revolution was a pivotal moment 

in history, characterized by the overthrow of the 
monarchy, the establishment of a republic, and 
the rise of democratic ideals. It fostered a sense 
of national unity and identity among the French 
people, as they rallied behind revolutionary 
slogans such as “Liberty, Equality, Fraternity.” The 
revolutionaries sought to redefine the French nation 
based on principles of citizenship and sovereignty 
of the people, rather than allegiance to a monarch 
or dynasty. This emphasis on sovereignty and rights 
of the nation’s citizens can be seen as an early 
manifestation of nationalist ideology.
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However, it’s essential to recognize that nationalist 
sentiments predated the French Revolution and 
were not exclusive to France. Throughout history, 
various factors such as language, culture, religion, 
and shared historical experiences have contributed 
to the formation of collective identities and 
allegiances among different groups of people. For 
example, the rise of nation-states in Europe during 
the Renaissance and early Modern periods saw 
the emergence of national consciousness among 
peoples such as the English, Spanish, and Dutch. 
Moreover, the French Revolution itself was 
influenced by Enlightenment ideas that emphasized 
individual rights, social contracts, and the 
sovereignty of the people. These ideas were not 
confined to France but circulated widely throughout 
Europe, inspiring movements for political change 
and self-determination in other countries.

OR
	 (b)	 The statement regarding the dominance of 

conservatism in European governments following 
Napoleon’s defeat in 1815 reflects a significant aspect 
of post-Napoleonic Europe, yet it oversimplifies 
the complex political landscape of the time. While 
there was indeed a prevailing sentiment favoring 
conservatism, characterized by a desire to maintain 
traditional institutions and social hierarchies, the 
period also witnessed various other ideological 
currents.
Conservatism did hold sway in many European 
nations, as monarchies and aristocracies sought to 
reassert control after the upheaval of the Napoleonic 
era. The Congress of Vienna, for instance, aimed 
to restore the pre-Napoleonic order, emphasizing 
stability and the preservation of existing power 
structures. However, it would be inaccurate to 
portray this as the sole driving force behind 
European governance.
The period also saw the emergence of liberal 
and nationalist movements, driven by ideals of 
individual rights, constitutionalism, and the desire 
for self-determination among various ethnic 
groups. These forces, though often suppressed by 
conservative regimes, were nonetheless influential 
in shaping the political discourse and contributing 
to later developments such as the Revolutions of 
1848. 
In conclusion, while conservatism was indeed a 
dominant force in post-Napoleonic Europe, the 
political landscape of the time was more nuanced, 
featuring a dynamic interplay of conservative, 
liberal, and nationalist ideologies, each leaving its 
mark on the trajectory of European history.

31.	 (a)	 Democracy plays a crucial role in reducing inequality 
and poverty by fostering inclusivity, accountability, 

and representation. In a democratic society, citizens 
have the power to elect leaders who are responsive 
to their needs, thereby ensuring policies that address 
socio-economic disparities.
For example, in a democratic country, governments 
can implement progressive taxation systems where 
the wealthy contribute more to social welfare 
programms aimed at uplifting the impoverished. 
Additionally, democratic institutions promote 
transparency and accountability, reducing corruption 
and ensuring that resources are allocated efficiently 
and equitably.
Moreover, democracy allows for the protection 
of individual rights and freedoms, including 
access to education, healthcare, and employment 
opportunities. By empowering marginalized groups 
to participate in the political process, democracy 
enables them to advocate for policies that advance 
their socio-economic status and alleviate poverty. 
Furthermore, democratic governance encourages 
civil society engagement, facilitating the emergence 
of grassroots movements and initiatives to address 
inequality and poverty at the community level.

OR
	 (b) 	 Democracy is considered a legitimate form of 

government because it provides citizens with the 
opportunity to participate in the decision-making 
process, ensuring that power ultimately resides 
with the people. Through free and fair elections, 
individuals can elect representatives who reflect 
their interests and values, thereby legitimizing the 
government’s authority.
For example, the United States serves as a 
prominent illustration of democracy’s legitimacy. 
In the U.S., citizens elect officials at various levels 
of government, including the President, members of 
Congress, and local representatives. These elected 
officials are accountable to the electorate and must 
adhere to the principles outlined in the Constitution. 
Additionally, democratic systems typically 
incorporate mechanisms such as the rule of law, 
separation of powers, and protection of individual 
rights, further bolstering their legitimacy.
Moreover, democratic governments often encourage 
participation beyond elections, allowing citizens 
to engage in civic activities, express dissent, and 
petition for change through peaceful means. This 
active involvement fosters a sense of ownership and 
investment in the political process, reinforcing the 
legitimacy of the government. Overall, democracy’s 
legitimacy stems from its foundation in popular 
sovereignty and its capacity to uphold the will and 
interests of the people.
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32.	 (a)	 The manufacturing sector serves as the cornerstone 
of a nation’s development for several compelling 
reasons. Firstly, it generates substantial employment 
opportunities across diverse skill levels, from 
manual labor to high-tech engineering, fostering 
economic stability and reducing unemployment 
rates. This, in turn, stimulates consumer spending 
and enhances living standards.
Moreover, manufacturing fuels innovation and 
technological advancement by driving research 
and development activities. It serves as a catalyst 
for the growth of associated industries such as 
transportation, logistics, and services, forming 
intricate supply chains that amplify economic 
activity.
Additionally, a robust manufacturing base bolsters 
a country’s resilience against external shocks by 
reducing dependency on imports and enhancing 
self-sufficiency. It also contributes significantly to 
exports, generating foreign exchange earnings and 
improving the trade balance.
Furthermore, the manufacturing sector fosters 
regional development by establishing industrial 
clusters, attracting investments, and facilitating 
infrastructure development. Ultimately, the 
manufacturing sector’s pivotal role in job creation, 
innovation, economic diversification, and national 
self-reliance underscores its status as the backbone 
of a country’s development, driving sustained 
economic growth and prosperity.

OR
	 (b)	 Agriculture and industry indeed complement each 

other, forming a symbiotic relationship crucial for 
economic development. Agriculture provides raw 
materials like crops, livestock, and fibers, essential 
for various industrial processes. Industries, in turn, 
supply agriculture with machinery, fertilizers, 
pesticides, and technology, enhancing productivity 
and efficiency.
	Moreover, industries create employment 
opportunities for rural populations, reducing 
dependency on agriculture alone. This 
diversification encourages economic stability and 
growth. Additionally, advancements in industrial 
technology lead to innovations in agricultural 
practices, improving yields and sustainability.

Conversely, agricultural products serve as inputs 
for many industries, including food processing, 
textile manufacturing, and biofuel production. 
This interdependence fosters economic resilience, 
ensuring stability in times of fluctuating market 
conditions. Furthermore, industries often invest in 
rural infrastructure, such as transportation networks 

and storage facilities, facilitating the distribution of 
agricultural products. This collaboration between 
agriculture and industry fosters balanced regional 
development, bridging urban-rural divides.

In conclusion, the synergy between agriculture and 
industry is fundamental for fostering economic 
growth, ensuring food security, and enhancing 
livelihoods. Their intertwined relationship 
underscores the importance of collaboration for 
sustainable development.

33.	 (a)	 The tertiary sector, also known as the service sector, 
plays a crucial role in the Indian economy due to 
several significant reasons. Firstly, it is the largest 
sector in terms of contribution to GDP, accounting 
for around 55% of India’s GDP. This dominance 
reflects the country’s transition from agrarian to 
service-based economy, mirroring global trends.
Secondly, the tertiary sector is a significant source 
of employment, absorbing a considerable portion 
of India’s workforce. This is particularly crucial in 
a country with a large population like India, where 
job creation is vital for sustainable development and 
social stability.
Thirdly, the tertiary sector encompasses a wide 
range of industries including IT, finance, healthcare, 
tourism, and education, contributing to economic 
diversification and resilience. It has propelled India 
as a global hub for IT services and business process 
outsourcing, attracting foreign investment and 
fostering technological advancement.
Moreover, the growth of the tertiary sector has led 
to urbanization and the rise of metropolitan cities 
as centers of commerce and innovation. This 
urban-centric growth has further fueled demand 
for services, creating a positive feedback loop for 
economic expansion. 

OR
	 (b)	 The primary sector, which includes agriculture, 

forestry, fishing, and mining, plays a significant role 
in India’s employment landscape. Historically, it has 
been the largest employer, providing livelihoods to a 
substantial portion of the population.
Agriculture alone accounts for a major share of 
employment, especially in rural areas where a 
significant portion of the Indian population resides. 
Despite the growth of other sectors, agriculture 
continues to be the primary source of income for a 
vast number of households.
Additionally, forestry, fishing, and mining sectors 
also contribute to employment, albeit to a lesser 
extent compared to agriculture. These sectors 
provide employment opportunities, particularly in 
regions where natural resources are abundant.
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Furthermore, the primary sector serves as a crucial 
source of livelihood for millions of people engaged 
in activities such as farming, animal husbandry, and 
allied services. It not only sustains rural livelihoods 
but also supports the overall economy by supplying 
raw materials for various industries.
In summary, the primary sector remains integral 
to India’s employment scenario, supporting 
livelihoods, particularly in rural areas, and 
contributing significantly to the nation’s economy.

Note

The tertiary sector’s significance in the Indian economy 
lies not only in its substantial contribution to GDP but 
also in its role as a catalyst for employment generation, 
economic diversification, and urban development.

SECTION - E
[Case Base Questions]

34.	 34.1	Krishak Cooperative secures funds for loans by 
accepting deposits from its 2300 farmer members. 
Utilizing these deposits as collateral, it obtains 
a significant loan from a bank. These funds are 
then lent to members for various purposes like 
agricultural needs, construction, and other expenses, 
facilitating rural development and empowerment.

	 34.2	Krishak Cooperatives offer loans for various 
purposes including agricultural implements, 
cultivation and trade, fishery, construction of 
houses, and miscellaneous expenses. These loans 
are secured by members’ deposits, allowing the 
cooperative to obtain funds from banks for lending. 
Repayment allows for continuous lending cycles 
benefiting rural communities.

	 34.3	Cooperatives are desirable in rural areas because 
they offer accessible and affordable credit to 
members who may otherwise struggle to obtain 
loans from traditional sources like banks. 

35.	 35.1	The “Bengal Gazette” edited by Gangadhar 
Bhattacharya was published in English.

	 35.2	James Augustus Hickey was persecuted because 
he published gossip about the Company’s senior 
officials in India in the Bengal Gazette. This 
angered Governor-General Warren Hastings, who 
felt that such publications damaged the image of 
the colonial government. As a result, Hastings 
persecuted Hickey and encouraged the publication 
of officially sanctioned newspapers to counteract the 
flow of information that was perceived as harmful to 
the colonial administration’s reputation.

	 35.3	During the 1780s, Governor-General Warren 
Hastings encouraged the publication of officially 
sanctioned newspapers in response to the activities 
of James Augustus Hickey and the Bengal Gazette. 
These newspapers were encouraged because 
Hastings perceived them as a means to counter the 
flow of information that damaged the image of the 
colonial government. 

36.	 36.1	Sustainable development is a holistic approach 
to growth that meets present needs without 
compromising future generations’ ability to meet 
their own needs. It integrates economic, social, and 
environmental considerations, aiming for a balanced 
and enduring progress that preserves natural 
resources, fosters equity, and promotes resilience.

	 36.2	Agenda 21 was accepted at the United Nations 
Conference on Environment and Development 
(UNCED), also known as the Earth Summit. It took 
place in Rio de Janeiro, Brazil, in 1992. 

Note

Agenda 21 is a comprehensive blueprint for sustainable 
development covering various aspects like environmental 
protection, social equity, and economic development.

	 36.3	The Earth Summit in Rio de Janeiro, 1992, resulted 
in the acceptance of Agenda 21, a blueprint for 
sustainable development. Two outcomes emerged: 
heightened global awareness of environmental 
issues and a commitment to address them through 
coordinated efforts in environmental protection, 
social equity, and economic development.
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SECTION - F

[Map Skill Based Questions]
37. (a)	 (A) Nagpur 
		  (B) Dandi
	 	 (b) [Refer to the given map]

37	 (b)	 (ii)

37	 (b)	 (iii)

37	 (b)	 (i)

37	 (b)	 (iv)

37	 (a)	 (B)
37	 (a)	 (A)
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SECTION - A
(Multiple Choice Question)� (20 × 1 = 20)
1.	 In which one of the following states is 'bamboo drip 

irrigation system' prevalent?� 1
	 (a)	 Tamil Nadu	 (b)	 West Bengal
	 (c)	 Meghalaya	 (d)	 Odisha
2.	 Match Column I with Column II and choose the correct 

option.� 1
		 	 Column-I		  Column-II
			  (National Park)		  (State)
	 i.	 Kaziranga	 a.	 Madhya Pradesh
	 ii.	 Jim Corbett	 b.	 Assam
	 iii.	 Sunderbans	 c.	 Uttarakhand
	 iv.	 Bandhavgarh	 d.	 West Bengal
	 (a)	 i-a, ii-b, iii-c, iv-d	
	 (b)	 i-d, ii-c, iii-b, iv-a
	 (c)	 i-c, ii-b, iii-d, iv-a
	 (d)	 i-b, ii-c, iii-d, iv-a
3.	 Choose the correct option to fill in the blank.� 1
	 In the begining of the 19th century, _______ a girl married 

in a very orthodox household wrote an autobiography 
called ‘Amar Jiban’.	

	 (a)	 Pandita Ramabai
	 (b)	 Rashsundari Devi

	 (c)	 Tarabai Shinde
	 (d)	 Kailashbashini Debi
4.	 Arrange the following events in chronological order and 

choose the correct option.	�  1
	 I.	 Formation of Khilafat Committee in Bombay
	 II.	 Jallianwala Bagh Massacre
	 III.	 Bardoli Satyagraha
	 IV.	 Withdrawal of Non-Cooperation Movement
	 (a)	 I, II, III, IV	 (b)	 II, I, IV, III
	 (c)	 I, II, IV, III	 (d)	 III, IV, II, I
5.	 Which one of the following religions emerged from 

eastern  India and spread in several directions through 
intersecting points on the 'silk routes'?� 1

	 (a)	 Hinduism	 (b)	 Christianity
	 (c)	 Buddhism	 (d)	 Jainism
6.	 Who among the following hosted the 'Vienna Congress' 

in 1815?� 1
	 (a)	 Chancellor Duke Metternich
	 (b)	 Ernst Renan
	 (c)	 William I
	 (d)	 Otto von Bismarck
7.	 Select the formal sources of credit from the given sources 

and choose the correct option.� 1
	 I.	 Bank	 II.	 Moneylender
	 III.	 Cooperatives	 IV.	 Businessman
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	 (a)	 Only I and II	 (b)	 Only II and III
	 (c)	 Only I and III	 (d)	 Only I and IV
8.	 Which one of the following sectors has the highest share 

in employment in India?	�  1
	 (a)	 Primary	 (b)	 Secondary
	 (c)	 Tertiary	 (d)	 Quaternary
9.	 Which one of the following is included in 'liberalization'?
	 (a)	 Promoting trade barriers� 1
	 (b)	 Removing trade barriers
	 (c)	 Controlling the other country through trade
	 (d)	 Increasing import, export duty on goods
10.	 Two statements are given below. They are Assertion (A) 

and Reason (R). Read both the statements and choose the 
correct option.� 1

	 Assertion (A) : Rural poor families are still dependent on 
informal sources of credit.

	 Reason (R) : For obtaining loan from banks, collateral 
and special documents required.

	 (a)	 Both (A) and (R) are true and (R) is the correct 
explanation of (A).

	 (b)	 Both (A) and (R) are true, but (R) is not the correct 
explanation of (A).

	 (c)	 (A) is true, but (R) is false.
	 (d)	 (A) is false, but (R) is true.
11.	 In one of the small villages, a farmer borrows money 

from the village moneylender at a high monthly interest 
rate but is not able to repay it back. Next, he borrows it 
from a bank at a lower interest rate. Gradually he earns 
and pays back the loan to the moneylender and the bank.

	 Which of the following best describes the role of the bank 
in this credit situation?	�  1

	 (a)	 The bank acts as a cooperative lender.
	 (b)	 The bank facilitates a debt-trap situation.
	 (c)	 The bank ensures a fair exchange of goods.
	 (d)	 The bank saves the farmer from debt-trap.
12.	 Two statements, I and II are given below. Read both the 

statements and choose the correct option.� 1
	 Statement I: Women are now actively contributing to 

various professions including roles as doctors, engineers, 
lawyers, managers and university teachers.

	 Statement II: Political expression of gender division and 
political mobilization helped to improve women's role in 
public life.

	 (a)	 Statement I is true, but II is false.
	 (b)	 Statement I is false, but II is true.
	 (c)	 Statements I and II are true and II is the correct 

explanation of I.
	 (d)	 Statements I and II are true, but II is not the correct 

explanation of I.
13.	 Which one of the following is a scheduled language as 

per the Constitution of India?� 1

	 (a)	 Bhojpuri	 (b)	 Garhwali
	 (c)	 Nepali	 (d)	 Rajasthani
14.	 Two statements are given below. They are Assertion (A) 

and Reason (R).	�  1
	 Assertion (A) : Multi-party system has been adopted in 

India.
	 Reason (R) : It is capable of accommodating all the 

social and geographical differences in India.
	 (a)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
	 (b)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
	 (c)	 (A) is true, but (R) is false.
	 (d)	 (A) is false, but (R) is true.
15.	 Which one of the following steps has been taken by 

the Election Commission of India to reform political 
parties?	�  1

	 (a)	 Amended the Constitution to Prevend defection
	 (b)	 Candidates will have to give the details of criminal 

cases on affidavit.
	 (c)	 Candidates will have to give details of their property 

on affidavit.
	 (d)	 It has been made mandatory for all parties to conduct 

organizational elections and file income tax returns.
16.	 Look at the given picture. The work being done in the 

picture comes under which one of the following economic 
sectors?� 1

	 (a)	 Primary	 (b)	 Secondary
	 (c)	 Tertiary	 (d)	 Quaternary
	 Note: The following question is for the Visually 

Impaired Candidates only, in lieu of Q. No. 16.
	 'Floriculture' comes under which one of the following 

sectors of the economy?	�  1
	 (a)	 Primary	 (b)	 Secondary
	 (c)	 Tertiary	 (d)	 Quaternary
17.	 Read the following provisions regarding Secularism in 

the Indian Constitution and choose the correct option.� 1
	 I.	 The Indian State has not adopted any religion as its 

official religion.
	 II.	 The Constitution gives freedom to all the citizens to 

practice and propagate any religion.
	 III.	 The Constitution declares any kind of discrimination 

done on the basis of religion to be legal.
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	 IV.	 It gives the government the right to intervene in 
religious matters for ensuring equality within 
religious communities.

	 (a)	 Only I, II and III are correct.
	 (b)	 Only I, II and IV are correct.
	 (c)	 Only I, III and IV are correct.
	 (d)	 Only II, III and IV are correct. 
18.	 Choose the most appropriate option regarding the division 

of legislative rights in India.�  1
			  Subject list in		  Subjects
			  Indian Constitution	
	 (a)	 Union List	 –	 Defence and Commerce
	 (b)	 State List	 –	 Police and Agriculture
	 (c)	 Concurrent List	 –	 Forest and Communication
	 (d)	 Residuary Subjects –	 Computer Software and 		

			   Trade
19.	 Two statements, I and II are given below. Read both the 

statements and choose the correct option.� 1
	 Statement I: Division of power is good for democratic 

systems.
	 Statement II: It helps to reduce the possibility of conflict 

between social groups.
	 (a)	 Statement I is true, but II is false.
	 (b)	 Statement I is false, but II is true.
	 (c)	 Statements I and II are true and II is the correct 

explanation of I.
	 (d)	 Statements I and II are true, but II is not the correct 

explanation of I.
20.	 Which one of the following is the highest 'bauxite' 

producing state of India?� 1
	 (a)	 Maharashtra	 (b)	 Jharkhand
	 (c)	 Gujarat	 (d)	 Odisha

SECTION - B
(Very Short Answer Type Questions)� (4×2=8)
21.	 Why did people flee Europe for America in the nineteenth 

century?� 2
22.	 How have the developments in information and 

communication technology been the major factor to 
enable globalisation? Explain.� 2 

23.	 Mention the formation of Zilla Parishad.� 2
24.	 (a)	 "Minerals occur in igneous and metamorphic rocks." 

Explain the statement with example.� 2
OR

	 (b)	 "The ocean waters contain vast quantities of 
minerals." Explain the statement with example.

SECTION - C
(Short Answer Type Questions)� (5×3=15)
25.	 Describe any three characteristics of the Indian federal 

system.� 3
26.	 Describe any three features of Rabi crop season.� 3

27.	 Analyse the role of political parties in shaping the 
outcomes of democracy.� 3

28.	 (a)	 Explain the role of women in the Civil Disobedience 
Movement, with examples.� 3

OR
	 (b)	 How did the Indian folklore and symbols strengthen 

the idea of nationalism during the twentieth century? 
Explain with examples.� 3

29.	 Analyse the development of Punjab, Kerala and Bihar 
states on the basis of literacy.� 3

SECTION - D
(Long Answer Type Questions)� (4×5=20)
30.	 (a)	 "The first clear expression of nationalism came 

with the French Revolution in 1789." Evaluate the 
statement.� 5

OR
	 (b)	 "Following the defeat of Napoleon in 1815, 

European governments were driven by a spirit of 
conservatism." Evaluate the statement.� 5

31.	 (a)	 Explain with examples the role of democracy in the 
reduction of inequality and poverty.� 5

OR
	 (b)	 How is democracy a legitimate government? Explain 

with examples.� 5
32.	 (a)	 "Manufacturing sector is considered the backbone of 

development of the country.” Justify the statement.�5
OR

	 (b)	 "Agriculture and Industry move hand in hand," 
Justify the statement.� 5

33.	 (a)	 Examine the significance of the tertiary sector in the 
Indian economy.� 5

OR
	 (b)	 Explain the contribution of the primary sector in the 

context of employment in India.� 5

SECTION - E
(Case-based/Source-based Questions)� (3×4=12)
34.	 Read the given source and answer the questions that follow :

Loan from Cooperatives
	 Besides banks, the other major source of cheap credit in 

rural areas are the cooperative societies (or cooperatives). 
Members of a cooperative pool their resources for 
cooperation in certain areas. There are several types 
of cooperatives possible such as farmers cooperatives, 
weavers cooperatives, industrial workers cooperatives, 
etc. Krishak Cooperative functions in a village not very 
far away from Sonpur. It has 2300 farmers as members. 
It accepts deposits from its members. With these deposits 
as collateral, the Cooperative has obtained a large loan 
from the bank. These funds are used to provide loans to 
members. Once these loans are repaid, another round of 
lending can take place.
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	 Krishak Cooperative provides loans for the purchase 
of agricultural implements, loans for cultivation and 
agricultural trade, fishery loans, loans for construction of 
houses and for a variety of other expenses.

34.1	 How do 'Krishak Cooperatives' secure funds for providing 
loans to their members?� 1

34.2	 What are the different types of loans that 'Krishak 
Cooperatives' offer to their members?� 1

34.3	 Why are such cooperatives desirable in the rural areas?�2
35.	 Read the given source and answer the questions that 

follow :
Print Comes to India

	 From 1780, James Augustus Hickey began to edit the 
Bengal Gazette, a weekly magazine that described itself 
as 'a commercial paper open to all, but influenced by 
none'. So it was private English enterprise, proud of 
its independence from colonial influence, that began 
English printing in India. Hickey published a lot of 
advertisements, including those that related to the import 
and sale of slaves. But he also published a lot of gossip 
about the Company's senior officials in India. Enraged 
by this, Governor-General Warren Hastings persecuted 
Hickey, and encouraged the publication of officially 
sanctioned newspapers that could counter the flow of 
information that damaged the image of the colonial 
government. By the close of the eighteenth century, a 
number of newspapers and journals appeared in print. 
There were Indians, too, who began to publish Indian 
newspapers. The first to appear was the weekly Bengal 
Gazette, brought out by Gangadhar Bhattacharya, who 
was close to Raja Rammohan Roy. 

35.1	 In which language was 'Bengal Gazette' edited by James 
Augustus Hickey published?� 1

35.2	 Why was James Augustus Hickey persecuted? � 1
35.3	 Which newspapers were encouraged during the 1780s? 

Why were they encouraged?� 1 + 1 = 2
36.	 Read the given source and answer the questions that 

follows :
Conservation of Resources

	 At the international level, the Club of Rome advocated 
resource conservation for the first time in a more 
systematic way in 1968. Subsequently in 1974. Gandhian 

philosophy was once again presented by Schumacher 
in his book Small is Beautiful. The seminal contribution 
with respect to resource conservation at the global 
level was made by the Brundtland Commission Report, 
1987. This report introduced the concept of 'Sustainable 
Development' and advocated it as a means for resource 
conservation, which was subsequently published in a 
book entitled Our Common Future. Another significant 
contribution was made at the Earth Summit at Rio de 
Janeiro, Brazil in  1992. 

36.1	 Explain the meaning of sustainable development.� 1
36.2	 In which international conference was 'Agenda-21' 

accepted?� 1
36.3	 Explain any two outcomes of the Summit.� 2 × 1 = 2

SECTION - F
(Map Skill Based Question)� (2+3=5)
37.	 (a)	 Two places ‘A’ and ‘B’ have been marked on the 

given political outline map of India (on page 27). Identify 
them with the help of the following information and write 
their correct names on the lines drawn near them :

	 A.	 The place where the session of Indian National 
Congress was held in 1920.� 1

	 B.	 The place where Gandhiji broke the salt law.        � 1
	 (b)	 On the same political outline map of India, locate and 

label any three of the following with suitable symbols :
(3×1=3)

(i)	 Bailadila - Iron ore Mines
(ii)	 Namrup - Thermal Power Plant
(iii)	 Kandla - Major Sea Port
(iv)	 Meenam Bakkam - International Airport
	 Note: The following questions are for the Visually 

Impaired Candidates only, in lieu of Q. No.37
	 Attempt any five questions : � (5×1=5)
37.1	 Name the state where the session of Indian National 

Congress was held in 1927.
37.2	 Name the place where Gandhiji broke the salt law.
37.3	 Name the state where Bailadila iron ore mines are located.
37.4	 In which state is Namrup Thermal Power Plant located?
37.5	 Name the state where Kandla sea port is located.
37.6	 Name the state where Meenam Bakkam international 

airport is located.	 	
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SECTION - A

(Multiple Choice Questions)
1.	 (c)	 The bamboo drip irrigation system is particularly 

prevalent in states like Meghalaya. It’s a technique 
commonly used in hilly regions where conventional 
irrigation methods might not be feasible. 

2.	 (d)	 Kaziranga National Park lies partly in Golaghat 
District and partly in Nagaon District of Assam.
Sundarbans is a mangrove area in the delta formed 
by the confluence of the Ganges, Brahmaputra and 
Meghna Rivers in the Bay of Bengal.
Bandhavgarh National Park is spread over the 
Vindhya Hills in Madhya Pradesh.
Jim Corbett National Park is a national park in India 
located in the Nainital district of Uttarakhand state.

3.	 (b)	 Rashsundari Devi was apparently the first Indian 
woman to study history. She was a writer by 
occupation and is the most well known for her 
autobiography called Amar Jiban, which was 
published in 1876. She was among the first few 
Bengali writers who had written autobiographies.

4.	 (c)	 (i) 	 The Khilafat Committee was formed in Bombay 
in March 1919.

		  (ii) 	 Jallianwala Bagh Massacre, incident on April 13, 
1919.

		  (iii) 	Bardoli Satyagraha began on 12 June 1928. It 
was eventually led by Sardar Vallabhbhai Patel.

		  (iv) 	Gandhiji called off the movement in February 
1922 in the wake of the Chauri Chaura incident.

5.	 (c)	 The religion that emerged from eastern India and 
spread through intersecting points on the Silk Routes 
is Buddhism. Originating in the region of present-
day Nepal and northeastern India (particularly Bihar 
and Uttar Pradesh), Buddhism gradually spread 
across Asia, facilitated by trade routes like the Silk 
Road.

6.	 (a)	 Congress at Vienna was hosted by Austrian 
chancellor Duke Metternich in 1815. Its first goal 
was to establish a new balance of power in Europe.

7.	 (c)	 Formal sector credit is those that are supervised 
by the government and the Reserve Bank of India 
(RBI). 

Note

Banks come under the formal sector. Even cooperatives are 
registered with the government and fall under the formal 
sector. The RBI, directly or indirectly, supervises the 
functioning of the formal sources of loans.

8.	 (a)	 Agriculture and allied activities provide the highest 
employment in the Indian economy. In India, 
Agriculture employs 50%-60% of the population. 
Agriculture is included in the primary sector.

9.	 (b)	 Liberalization entails reducing government 
restrictions on economic activities, fostering 
free market principles. Key features include 
deregulation, allowing private sector participation, 
trade liberalization through lowered tariffs, and 
financial sector reforms like privatization of state-
owned enterprises and opening up capital markets 
to foreign investment. This often leads to increased 
competition and economic growth.

10.	 (a)	 Rural families in India often rely on the informal 
sector for loans due to limited access to formal 
banking services, bureaucratic hurdles, and lack 
of collateral. Informal lenders offer quicker and 
easier access to credit, albeit at higher interest rates, 
making them a preferred option for many rural 
households.

11.	 (d)	 The role of the bank in this credit situation would be 
best described as (d) the bank saves the farmer from 
a debt trap. By offering the farmer a loan at a lower 
interest rate, the bank provides the farmer with an 
opportunity to repay the high-interest loan from the 
moneylender and escape the cycle of high debt and 
interest payments.

12.	 (d)	 Both statements are true, but statement 2 does not 
directly explain statement 1. 

13.	 (c)	 The Eighth Schedule to the Constitution consists 
of the following 22 languages: Assamese, Bengali, 
Gujarati, Hindi, Kannada, Kashmiri, Konkani, 
Malayalam, Manipuri, Marathi, Nepali, Oriya, 
Punjabi, Sanskrit, Sindhi, Tamil, Telugu, Urdu, 
Bodo, Santhali, Maithili and Dogri.

14.	 (b)	 The assertion (A) is correct, as India indeed 
adopted a multi-party system. However, the reason 
(R) provided does not directly explain why India 
adopted a multi-party system. While India’s vastness 
and social/geographical diversity are factors that 
contribute to its multi-party system, there are 
additional reasons behind it.

15.	 (d)	 The Election Commission passed an order making 
it necessary for political parties to hold their 
organisational elections and file their income tax 
returns.

16.	 (c)	 The tertiary sector is also called as service sector. 
This sector also includes essential services that 
may not directly help in the production of goods. 
Examples: Education, Utilities, Transportation, 
Hospitality, etc. For example, we require teachers, 
doctors, tailors, some of which provide us with 
personal services.

Solutions
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17.	 (b)	 In India, the term ‘secularism’ was introduced 
in the year 1976 by the 42nd Amendment of 
the constitution. Secularism means separating 
government from religion which simply means that 
the government of India should not follow or favor 
any particular religion rather every religion should 
be favored equally.

18.	 (b)	 The 7th Schedule of the Indian Constitution has 
three lists namely, the Union list, state list, and 
concurrent list that show the division of power 
between the Union and States concerning certain 
subjects. The Union List has a total of 97 subjects, 
the State List has 66 subjects, and the Concurrent 
List has 47 Subjects.

19.	 (a)	 Both the assertion (A) and the reason (R) are accurate. 
Power sharing is indeed beneficial for democracy. 
When power is shared among different groups or 
institutions within a democratic system, it promotes 
inclusivity, representation, and accountability. One 
of the key benefits of power sharing is its capacity 
to mitigate conflicts between various social, ethnic, 
or religious groups.

20.	 (d)	 Odisha is India’s largest bauxite producer accounting 
for about 49% of the total production followed 
by Gujarat (24%), Jharkhand (9%), Chhattisgarh 
and Maharashtra (8% each). The remaining was 
produced by Madhya Pradesh, Goa, Karnataka and 
Tamil Nadu.

SECTION - B

[Very Short Answer Type Questions]
21.	 •	 Economic Opportunities: Many Europeans fled to 

America in the 19th century seeking better economic 
prospects. Industrialization and agricultural changes 
in Europe led to overcrowding in cities and 
displacement in rural areas. America promised vast 
expanses of land, particularly through initiatives 
like the Homestead Act of 1862, offering land to 
settlers willing to cultivate it. This attracted farmers, 
laborers, and entrepreneurs looking for opportunities 
to improve their economic circumstances.

	 •	 Religious and Political Freedom: Europe in the 
19th century was marked by social and political 
unrest, as well as religious persecution in some 
regions. America, on the other hand, offered greater 
religious and political freedom. Many immigrants 
sought refuge from religious discrimination or 
political persecution, finding in America a place 
where they could practice their faith freely and 
participate in democratic processes without fear of 
repression. This freedom attracted diverse groups, 
including Jews fleeing pogroms in Eastern Europe 
and political refugees from revolutions across the 
continent.

22.	 •	 Instant Communication: ICT has facilitated real-
time communication across borders through emails, 
video conferencing, instant messaging, and social 
media platforms. This instantaneous exchange of 
information has significantly reduced communication 
barriers, enabling businesses, governments, and 
individuals to collaborate seamlessly across the 
globe. As a result, decision-making processes have 
become more efficient, leading to faster transactions 
and increased productivity in various sectors.

	 •	 Access to Global Markets: The internet and 
digital technologies have provided unprecedented 
access to global markets for businesses of all 
sizes. E-commerce platforms, online marketplaces, 
and digital payment systems have eliminated 
geographical constraints, allowing businesses to 
reach customers worldwide. Moreover, ICT has 
democratised access to information, empowering 
individuals in remote locations to participate in the 
global economy by accessing educational resources, 
job opportunities, and market insights, thus fostering 
economic growth and development on a global 
scale.

23.	 •	 Constitutional Provision: Zila Parishads were 
formed in India as a part of the Panchayati Raj 
system, which was introduced through the 73rd 
Amendment Act of 1992. This amendment aimed 
to decentralize power by establishing elected local 
governments at the village, intermediate (block), 
and district levels, with Zila Parishads representing 
the district level.

	 •	 Role and Responsibilities: Zila Parishads serve as 
the apex bodies at the district level, responsible for 
coordinating the functioning of Panchayats within 
the district. They oversee various developmental 
activities including planning, implementation, and 
monitoring of programs related to agriculture, rural 
development, health, education, infrastructure, and 
welfare schemes within their jurisdiction.

24.	 (a)	 Minerals are naturally occurring inorganic 
substances with distinct chemical compositions and 
crystal structures. They are often found in igneous 
and metamorphic rocks, formed through different 
geological processes.
Igneous rocks, like granite and basalt, originate from 
the cooling and solidification of molten magma or 
lava. During this process, minerals such as quartz, 
feldspar, and mica crystallize from the cooling 
magma and become integral parts of the rock.
Metamorphic rocks, such as marble and slate, are 
formed through the alteration of existing rocks by 
heat, pressure, or chemically active fluids deep 
within the Earth’s crust. These conditions cause 
minerals within the original rock to recrystallize and 
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rearrange into new forms. For example, limestone 
can metamorphose into marble, with the mineral 
calcite transforming into larger, interlocking 
crystals.

OR
	 (b)	 The statement emphasizes the abundance of minerals 

dissolved in ocean water, vital for marine life and 
human use. For instance, sodium and chloride 
ions make seawater saline, crucial for maintaining 
marine ecosystems’ balance. Additionally, minerals 
like magnesium, calcium, and potassium contribute 
to ocean chemistry, influencing biological 
processes. These minerals are also extracted for 
various purposes, such as magnesium for alloy 
production and desalination processes. Overall, the 
ocean serves as a vast reservoir of essential minerals 
indispensable for both natural processes and human 
activities.

SECTION - C

[Short Answer Type Questions]
25.	 •	 Division of Powers : India divides powers between 

the central (union) government and the state 
governments. The Constitution of India clearly 
outlines the powers assigned to each level of 
government, with the Union List containing subjects 
exclusively under the jurisdiction of the central 
government, the State List containing subjects under 
the exclusive jurisdiction of the state governments, 
and the Concurrent List containing subjects on 
which both levels of government can legislate.

	 •	 Flexible Federalism: India’s federal system is 
often described as exhibiting “flexible federalism.” 
While the Constitution delineates the powers of 
the central and state governments, it also provides 
mechanisms for altering these powers when 
necessary. For example, during emergencies, the 
central government can assume greater authority, 
and the Constitution allows for the reorganisation of 
states or the alteration of their boundaries through 
legislative processes. This flexibility allows for 
adjustments to accommodate changing socio-
political dynamics and administrative needs.

	 •	 Strong Center: Despite being a federal system, 
India’s political structure often emphasizes a 
strong central government. The Constitution grants 
significant powers to the Union government, 
including matters of national importance such as 
defense, foreign affairs, and inter-state commerce. 
Additionally, the Union government has the 
authority to intervene in state affairs under certain 
circumstances, such as maintaining law and order, 

ensuring the implementation of central policies, or 
in cases of constitutional breakdown. This feature 
reflects a balance between decentralization and 
centralization, with the Union government playing 
a crucial role in preserving the unity and integrity of 
the nation.

26.	 •	 Timing: The Rabi crop season typically occurs 
during the winter months, starting from October 
and extending until March or April, depending on 
the region. It follows the monsoon season, which 
is crucial for replenishing soil moisture levels. The 
cooler temperatures during this period are favorable 
for the growth of certain crops.

	 •	 Crops: Rabi crops are mainly winter crops that are 
sown in the autumn and harvested in spring. Some 
common Rabi crops include wheat, barley, mustard, 
chickpeas, lentils, and peas. These crops are well-
suited to the cooler climate and can thrive even with 
less water, making them ideal for cultivation during 
the winter months.

	 •	 Water Availability: Unlike the Kharif season, 
which relies heavily on monsoon rains, Rabi crops 
are generally cultivated with irrigation water. 
Since the monsoon has already passed, farmers 
often depend on irrigation from canals, wells, or 
reservoirs to provide the necessary water for their 
crops. Proper water management is essential during 
this season to ensure optimal growth and yield of 
Rabi crops.

27.	 •	 Representation and Governance : Political parties 
serve as vehicles for representation in democracies, 
aggregating diverse interests and perspectives 
within society. They formulate policies, nominate 
candidates for elections, and seek to implement their 
agenda if elected.

	 •	 Political Competition and Accountability: 
This competition encourages parties to respond 
to citizens’ demands, address societal issues, and 
improve governance to attract voter support. In 
this way, political parties serve as mechanisms 
for holding elected officials accountable to the 
electorate.

	 •	 Formation and Maintenance of Democratic 
Institutions : Political parties play a crucial role in 
the establishment and maintenance of democratic 
institutions. They often operate within a framework 
of rules and norms that ensure fair competition, 
protect individual rights, and uphold the rule of 
law. Through participation in electoral processes, 
legislative debates, and policy making, parties 
contribute to the functioning and development 
of democratic institutions, such as legislatures, 
judiciaries, and electoral commissions.
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28.	 (a)	 •	 Leadership and Mobilization : Women played 
crucial roles in leading and mobilising communities 
during the Civil Disobedience Movement. For 
instance, Sarojini Naidu, known as the “Nightingale 
of India,” was a prominent figure in the Indian 
independence movement. She fearlessly led 
protests, organised meetings, and inspired masses 
with her speeches, galvanizing women to actively 
participate in civil disobedience against British rule.

	 •	 Active Participation : Women actively participated 
in acts of the civil disobedience, such as boycotting 
British goods, picketing, and joining protest marches. 
An example is the Salt Satyagraha of 1930, where 
women from all walks of life, including rural areas, 
joined Mahatma Gandhi in defying the British salt 
laws. They marched to the beaches, produced salt, 
and faced arrests, showcasing their commitment to 
the cause of independence.

	 •	 Symbolism and Sacrifice : Women’s involvement 
in civil disobedience movements often symbolized 
their commitment to freedom and sacrifice for 
the nation’s cause. One notable example is that 
of Kamaladevi Chattopadhyay, who not only 
participated in protests but also faced imprisonment 
for her activism. Her resilience and sacrifice 
inspired countless others to join the struggle for 
independence and highlighted the integral role of 
women in the movement’s success.

OR
	 (b)	 •	 Cultural Identity and Unity : Indian folklore, 

including myths, legends, and symbols, served as 
potent tools to foster a sense of cultural identity 
and unity among diverse communities across the 
country. For instance, the figure of Bharat Mata 
(Mother India) emerged as a powerful symbol of the 
nation during the Indian independence movement. 

	 •	 Resistance Against Colonialism : Indian folklore 
and symbols were often used to express resistance 
against colonial rule and imperialism. The use of 
traditional symbols and narratives in literature, art, 
and music became a form of cultural resistance 
against the cultural hegemony of the British. For 
example, the stories of valorous kings and warriors 
from Indian epics like the Ramayana and the 
Mahabharata were invoked to inspire Indians to 
fight against oppression and injustice. 

	 •	 Cultural Renaissance and Nationalism : Scholars 
and artists like Rabindranath Tagore, Bankim 
Chandra Chattopadhyay, and Mahatma Gandhi 
emphasised the importance of reconnecting with 
India’s rich cultural heritage to instill a sense of pride 
and self-respect among the masses. The promotion 
of folk dances, music, and traditional arts not only 

revitalized indigenous cultural expressions but also 
reinforced the idea of an independent Indian identity 
rooted in its ancient traditions.

29.	 The literacy rates in Punjab, Kerala, and Bihar showcase 
diverse trajectories reflecting the varying socio-
economic, cultural, and historical factors shaping each 
state.

	 Kerala stands out as a frontrunner in literacy with 
consistently high rates owing to its robust education 
system, proactive government policies, and strong social 
indicators. The state’s focus on education dates back to 
the early 20th century, resulting in widespread literacy 
campaigns and investments in primary education. 
Consequently.

	 Punjab, historically known for its agricultural prosperity, 
has also made strides in literacy, albeit at a slower pace 
compared to Kerala. With a relatively better infrastructure 
and economic stability, Punjab has invested in education, 
particularly in urban areas. However, challenges such as 
disparities in rural education and migration of laborers 
have hindered progress.

	 On the other hand, Bihar has struggled with low literacy 
rates due to persistent socio-economic challenges such 
as poverty, caste-based disparities, and inadequate 
infrastructure. Despite recent efforts to improve 
education access, Bihar continues to grapple with issues 
like teacher vacancies, inadequate school facilities, and 
low enrollment rates, particularly among marginalized 
communities.

Note

Kerala boasts one of the highest literacy rates in India, 
exceeding 95%, contributing significantly to its socio-
economic development.

SECTION - D

[Long Answer Type Questions]
30.	 (a)	 The French Revolution was a pivotal moment 

in history, characterized by the overthrow of the 
monarchy, the establishment of a republic, and 
the rise of democratic ideals. It fostered a sense 
of national unity and identity among the French 
people, as they rallied behind revolutionary 
slogans such as “Liberty, Equality, Fraternity.” The 
revolutionaries sought to redefine the French nation 
based on principles of citizenship and sovereignty 
of the people, rather than allegiance to a monarch 
or dynasty. This emphasis on sovereignty and rights 
of the nation’s citizens can be seen as an early 
manifestation of nationalist ideology.
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However, it’s essential to recognize that nationalist 
sentiments predated the French Revolution and 
were not exclusive to France. Throughout history, 
various factors such as language, culture, religion, 
and shared historical experiences have contributed 
to the formation of collective identities and 
allegiances among different groups of people. For 
example, the rise of nation-states in Europe during 
the Renaissance and early Modern periods saw 
the emergence of national consciousness among 
peoples such as the English, Spanish, and Dutch. 
Moreover, the French Revolution itself was 
influenced by Enlightenment ideas that emphasized 
individual rights, social contracts, and the 
sovereignty of the people. These ideas were not 
confined to France but circulated widely throughout 
Europe, inspiring movements for political change 
and self-determination in other countries.

OR
	 (b)	 The statement regarding the dominance of 

conservatism in European governments following 
Napoleon’s defeat in 1815 reflects a significant aspect 
of post-Napoleonic Europe, yet it oversimplifies 
the complex political landscape of the time. While 
there was indeed a prevailing sentiment favoring 
conservatism, characterized by a desire to maintain 
traditional institutions and social hierarchies, the 
period also witnessed various other ideological 
currents.
Conservatism did hold sway in many European 
nations, as monarchies and aristocracies sought to 
reassert control after the upheaval of the Napoleonic 
era. The Congress of Vienna, for instance, aimed 
to restore the pre-Napoleonic order, emphasizing 
stability and the preservation of existing power 
structures. However, it would be inaccurate to 
portray this as the sole driving force behind 
European governance.
The period also saw the emergence of liberal 
and nationalist movements, driven by ideals of 
individual rights, constitutionalism, and the desire 
for self-determination among various ethnic 
groups. These forces, though often suppressed by 
conservative regimes, were nonetheless influential 
in shaping the political discourse and contributing 
to later developments such as the Revolutions of 
1848. 
In conclusion, while conservatism was indeed a 
dominant force in post-Napoleonic Europe, the 
political landscape of the time was more nuanced, 
featuring a dynamic interplay of conservative, 
liberal, and nationalist ideologies, each leaving its 
mark on the trajectory of European history.

31.	 (a)	 Democracy plays a crucial role in reducing inequality 
and poverty by fostering inclusivity, accountability, 

and representation. In a democratic society, citizens 
have the power to elect leaders who are responsive 
to their needs, thereby ensuring policies that address 
socio-economic disparities.
For example, in a democratic country, governments 
can implement progressive taxation systems where 
the wealthy contribute more to social welfare 
programms aimed at uplifting the impoverished. 
Additionally, democratic institutions promote 
transparency and accountability, reducing corruption 
and ensuring that resources are allocated efficiently 
and equitably.
Moreover, democracy allows for the protection 
of individual rights and freedoms, including 
access to education, healthcare, and employment 
opportunities. By empowering marginalized groups 
to participate in the political process, democracy 
enables them to advocate for policies that advance 
their socio-economic status and alleviate poverty. 
Furthermore, democratic governance encourages 
civil society engagement, facilitating the emergence 
of grassroots movements and initiatives to address 
inequality and poverty at the community level.

OR
	 (b) 	 Democracy is considered a legitimate form of 

government because it provides citizens with the 
opportunity to participate in the decision-making 
process, ensuring that power ultimately resides 
with the people. Through free and fair elections, 
individuals can elect representatives who reflect 
their interests and values, thereby legitimizing the 
government’s authority.
For example, the United States serves as a 
prominent illustration of democracy’s legitimacy. 
In the U.S., citizens elect officials at various levels 
of government, including the President, members of 
Congress, and local representatives. These elected 
officials are accountable to the electorate and must 
adhere to the principles outlined in the Constitution. 
Additionally, democratic systems typically 
incorporate mechanisms such as the rule of law, 
separation of powers, and protection of individual 
rights, further bolstering their legitimacy.
Moreover, democratic governments often encourage 
participation beyond elections, allowing citizens 
to engage in civic activities, express dissent, and 
petition for change through peaceful means. This 
active involvement fosters a sense of ownership and 
investment in the political process, reinforcing the 
legitimacy of the government. Overall, democracy’s 
legitimacy stems from its foundation in popular 
sovereignty and its capacity to uphold the will and 
interests of the people.
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32.	 (a)	 The manufacturing sector serves as the cornerstone 
of a nation’s development for several compelling 
reasons. Firstly, it generates substantial employment 
opportunities across diverse skill levels, from 
manual labor to high-tech engineering, fostering 
economic stability and reducing unemployment 
rates. This, in turn, stimulates consumer spending 
and enhances living standards.
Moreover, manufacturing fuels innovation and 
technological advancement by driving research 
and development activities. It serves as a catalyst 
for the growth of associated industries such as 
transportation, logistics, and services, forming 
intricate supply chains that amplify economic 
activity.
Additionally, a robust manufacturing base bolsters 
a country’s resilience against external shocks by 
reducing dependency on imports and enhancing 
self-sufficiency. It also contributes significantly to 
exports, generating foreign exchange earnings and 
improving the trade balance.
Furthermore, the manufacturing sector fosters 
regional development by establishing industrial 
clusters, attracting investments, and facilitating 
infrastructure development. Ultimately, the 
manufacturing sector’s pivotal role in job creation, 
innovation, economic diversification, and national 
self-reliance underscores its status as the backbone 
of a country’s development, driving sustained 
economic growth and prosperity.

OR
	 (b)	 Agriculture and industry indeed complement each 

other, forming a symbiotic relationship crucial for 
economic development. Agriculture provides raw 
materials like crops, livestock, and fibers, essential 
for various industrial processes. Industries, in turn, 
supply agriculture with machinery, fertilizers, 
pesticides, and technology, enhancing productivity 
and efficiency.
	Moreover, industries create employment 
opportunities for rural populations, reducing 
dependency on agriculture alone. This 
diversification encourages economic stability and 
growth. Additionally, advancements in industrial 
technology lead to innovations in agricultural 
practices, improving yields and sustainability.

Conversely, agricultural products serve as inputs 
for many industries, including food processing, 
textile manufacturing, and biofuel production. 
This interdependence fosters economic resilience, 
ensuring stability in times of fluctuating market 
conditions. Furthermore, industries often invest in 
rural infrastructure, such as transportation networks 

and storage facilities, facilitating the distribution of 
agricultural products. This collaboration between 
agriculture and industry fosters balanced regional 
development, bridging urban-rural divides.

In conclusion, the synergy between agriculture and 
industry is fundamental for fostering economic 
growth, ensuring food security, and enhancing 
livelihoods. Their intertwined relationship 
underscores the importance of collaboration for 
sustainable development.

33.	 (a)	 The tertiary sector, also known as the service sector, 
plays a crucial role in the Indian economy due to 
several significant reasons. Firstly, it is the largest 
sector in terms of contribution to GDP, accounting 
for around 55% of India’s GDP. This dominance 
reflects the country’s transition from agrarian to 
service-based economy, mirroring global trends.
Secondly, the tertiary sector is a significant source 
of employment, absorbing a considerable portion 
of India’s workforce. This is particularly crucial in 
a country with a large population like India, where 
job creation is vital for sustainable development and 
social stability.
Thirdly, the tertiary sector encompasses a wide 
range of industries including IT, finance, healthcare, 
tourism, and education, contributing to economic 
diversification and resilience. It has propelled India 
as a global hub for IT services and business process 
outsourcing, attracting foreign investment and 
fostering technological advancement.
Moreover, the growth of the tertiary sector has led 
to urbanization and the rise of metropolitan cities 
as centers of commerce and innovation. This 
urban-centric growth has further fueled demand 
for services, creating a positive feedback loop for 
economic expansion. 

OR
	 (b)	 The primary sector, which includes agriculture, 

forestry, fishing, and mining, plays a significant role 
in India’s employment landscape. Historically, it has 
been the largest employer, providing livelihoods to a 
substantial portion of the population.
Agriculture alone accounts for a major share of 
employment, especially in rural areas where a 
significant portion of the Indian population resides. 
Despite the growth of other sectors, agriculture 
continues to be the primary source of income for a 
vast number of households.
Additionally, forestry, fishing, and mining sectors 
also contribute to employment, albeit to a lesser 
extent compared to agriculture. These sectors 
provide employment opportunities, particularly in 
regions where natural resources are abundant.
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Furthermore, the primary sector serves as a crucial 
source of livelihood for millions of people engaged 
in activities such as farming, animal husbandry, and 
allied services. It not only sustains rural livelihoods 
but also supports the overall economy by supplying 
raw materials for various industries.
In summary, the primary sector remains integral 
to India’s employment scenario, supporting 
livelihoods, particularly in rural areas, and 
contributing significantly to the nation’s economy.

Note

The tertiary sector’s significance in the Indian economy 
lies not only in its substantial contribution to GDP but 
also in its role as a catalyst for employment generation, 
economic diversification, and urban development.

SECTION - E
[Case Base Questions]

34.	 34.1	Krishak Cooperative secures funds for loans by 
accepting deposits from its 2300 farmer members. 
Utilizing these deposits as collateral, it obtains 
a significant loan from a bank. These funds are 
then lent to members for various purposes like 
agricultural needs, construction, and other expenses, 
facilitating rural development and empowerment.

	 34.2	Krishak Cooperatives offer loans for various 
purposes including agricultural implements, 
cultivation and trade, fishery, construction of 
houses, and miscellaneous expenses. These loans 
are secured by members’ deposits, allowing the 
cooperative to obtain funds from banks for lending. 
Repayment allows for continuous lending cycles 
benefiting rural communities.

	 34.3	Cooperatives are desirable in rural areas because 
they offer accessible and affordable credit to 
members who may otherwise struggle to obtain 
loans from traditional sources like banks. 

35.	 35.1	The “Bengal Gazette” edited by Gangadhar 
Bhattacharya was published in English.

	 35.2	James Augustus Hickey was persecuted because 
he published gossip about the Company’s senior 
officials in India in the Bengal Gazette. This 
angered Governor-General Warren Hastings, who 
felt that such publications damaged the image of 
the colonial government. As a result, Hastings 
persecuted Hickey and encouraged the publication 
of officially sanctioned newspapers to counteract the 
flow of information that was perceived as harmful to 
the colonial administration’s reputation.

	 35.3	During the 1780s, Governor-General Warren 
Hastings encouraged the publication of officially 
sanctioned newspapers in response to the activities 
of James Augustus Hickey and the Bengal Gazette. 
These newspapers were encouraged because 
Hastings perceived them as a means to counter the 
flow of information that damaged the image of the 
colonial government. 

36.	 36.1	Sustainable development is a holistic approach 
to growth that meets present needs without 
compromising future generations’ ability to meet 
their own needs. It integrates economic, social, and 
environmental considerations, aiming for a balanced 
and enduring progress that preserves natural 
resources, fosters equity, and promotes resilience.

	 36.2	Agenda 21 was accepted at the United Nations 
Conference on Environment and Development 
(UNCED), also known as the Earth Summit. It took 
place in Rio de Janeiro, Brazil, in 1992. 

Note

Agenda 21 is a comprehensive blueprint for sustainable 
development covering various aspects like environmental 
protection, social equity, and economic development.

	 36.3	The Earth Summit in Rio de Janeiro, 1992, resulted 
in the acceptance of Agenda 21, a blueprint for 
sustainable development. Two outcomes emerged: 
heightened global awareness of environmental 
issues and a commitment to address them through 
coordinated efforts in environmental protection, 
social equity, and economic development.
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SECTION - F

[Map Skill Based Questions]
37. (a)	 (A) Nagpur 
		  (B) Dandi
	 	 (b) [Refer to the given map]

37	 (b)	 (ii)

37	 (b)	 (iii)

37	 (b)	 (i)

37	 (b)	 (iv)

37	 (a)	 (B)
37	 (a)	 (A)
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